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�� �� ��� �	
 �� ��
 ��	� �� ���� ����� ������ ��� � ���!�  ����"#� � ����$��%��� ���  .
 �� '�($)� �*+ �(,%��� ����$�� -#�.
 ���.� �	�� %�/ �� %��� � ���� .��01 2���   3� �� �	


��.� %��� 4#.5�  2-#6 �#�0� �7�01 %�������� ��./ � .8�1 �"� �# � ��.� 8��7, %��� ��./ 9��� 
�� 	��-.��� %��� ��./ ���:� 8�.� 3��� ��	� ��1��� �(, ;#� �� #�� � ��.
 .  

 �� '�($)� �(, ;#� 8�-$������ %��� ����0"�� 3� ��#��5� . %��� ����0"�� �<�</ �� ��1���
� .� =���� 8�1�.�� �� �>	� ��-� �� %��� ��./�� ���.� %�� -"� . �?�.@$�� A	B�� �(, ;#� �� �C.
�

�� ���.� %��� ��./  ����3 ��.��D� ���� 8�.� ���E��.�#� ����5� 3� ��� 2�	�����0"��$�� %��� � =��
�� �	� . 2�F"#� ���� 8-#-> A	B�� �� �$,.
 .G��� %��� ��./ ���:� 8�.� %.$"� �F/ A��  � �	�

�$E�� �� �6 H�*���2� �#.G� I�	 -#�.
 -1�	) ���� 3-?	"#� %�<$�� 8. JK�2 ��./ ����� ����5� 
%����?�.@$�� A., �� �� ����  ��.
.���� ����5� ;#�  �L��� 8 8�<�A.>  2�L��� 8 � ��./ =3�-�� 
�L��� 8��� 8M.�� .  ���?�/ .$7��  8�1���.� ��	�2%��� �.� �� .#NO���>	� ��	� ��� . .G��� 8�1�.�� 

=-� �$,.
%��� ��./ �� � 8�1�.�� ���� �	� -1�	) ��)�� 8�1�.�� � �:L .�F�6 3�#� ��  .���.� ��
 ;#� %�.@$�� 3� �(,�� ; � �� ���� -#62��
-"��	) �� P�-��� �� ��!	�   �Q�#� R�� S?�L� �	�T 

 �1�@7�������.� -""� .  
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������� ��
��� �  �!�"#��   
��� ��$�%&�'   ��
�	�%(��)��	 � �*  

�E� ���:� 8�.�#���� �	>� =�
-#� �� ����� ������ �� � .%	�?	� 3� %��� ��"#� �� �>	� ��  8�1
�� ��./ ���.� ����� 2��� =-� ���7� 8���E� %	�?	� �� 	>� �1����-� . ��-5� 3� 2U	��� 

%	�?	� 3� �L�	$� �1�� =���$�� -���� ��C	� ���E� �F/ ��  ��.
. �F/ ;#�  ��=�V 8%��� W =-���� 
�� �	�8�.0�+ �� �E#�<� �� 2����� ��!�, �� �E#�<� �� ��� 2��� �C	� �5?�L� ��	�  �?	�?	� 8%���  

��� X�Y�. %��� '�	) 2�N?)  ��*+ 3��"�=.�[ � �?�@C 2��7, 2(�� ��  �� '�	) ���� �� ��	�  ��
�.� ;��5� ���3 �� �*E� �6 ���V..@#� �,.
 3� �� 2 	� ����
�.0�+ A�0� �� %��� ���!	() ��  8

�������  �� .��D� �$�	�O ��	!  �� %��� � -"�=��� �# ��	"� �� �$,.
 .G��� �$�	�O 8 �	� . 3�
�F�6#�  ��A�0� �� A	B�� ;#���� ]��! %��� ��./ ���.� ���	� �� ;�5� ���3 �# �� 2  '�	) ��	�

�� %������� ��5+	� �� �*E� �6 �.� ���� � .;#�^��  %��� ���!	() ���� ^�� �� 4�!	��.0�+ 8_ 
��� `�.5� %��� �����.  

 ��8a��.
� =�
-#�b=-� �"�6 �6 �� �#Y�, R�� �� �� �c�6 -"��� 2  �� %��� ���V S�<5� �� 2-#�
�� �$)��.O ��./ %�/  � �	� ��.��D����V ;#� �� H�*��� �� %��� '�	) ���.� ���3 �� �*E� 

�� �	� .� �8.�#�� =�
-#�d8�.0�+ 4�!	� A	B�� 3� 2����� �� =���$��  �	�. '�	) 2=�
-#� ;#� �� 
-� -1�	) ���.� -���� ��.+ %��� 8�.0�+ �� �� �"�5� H�<� �� %��� .2�<�</ ���F"#� ��  '�	) 

H�<� 3� �� ���@"1 %��� ���V4�$ � ��  -��N
2��� ���.� ���+ .  
� 8�.��� ;#� ����� .$B� e���� %�f� �� =�
-#� # ��� �� =-� �)bgT (-�"� �>	� . 2%�f� ;#� ��
 3� h6 i�.).�� �# � ��� =-� �$,.
 .G��� =3�-��  8.�
%��� ��.� ��-<�.�� 3� �-� i��) 3� -5�  
��� .G� ��	�.28.�#�� =�
-#� ��  �L<� ��  -"��� 8�A��($ � �� Tx�  Ty 2 =3�-�� =�@$��  ��.� 8.�


�� S(� ����3 �� �*E� ��.� .#��<� � �	�L<� ;#� �� �� ������#  �	� .;#�.��"�2��   ��.� ��	�
%��� 2V2L<� �6 �� ��� �.� ;��5� ���3 �� �*E� .2.@#� ����*� �� �L<� �� ��.�   8 A j���Tx  2Ty  �t 

�	� -1�	). ��-5� �c��"C =�
-#� ;#� ��=�@$�� ;#� 3� 8���E�   �14�$ � H�<� ���+ 0.� S(� ����� 8
�	��� 2 ��	���.� %���  �� A�0��.0�+ 8 �62� �# � .@#� ���*� t)‚ y‚ x V = V( �� ��  ���6 ���.   

=3�-�� =�@$�� 28a��.
� =�
-#� �� �V �# �� ��.� 8.�
=%���  ) %�f� 8�.�=�V  8O ( S(�
��  �	� � �� =�V ��.����3 �� �*l 4�$ � 8�1  2��.
t) VO = VO(. ��=�@$�� ;#� 3� 8���E� S(�   �1

�� ��./ %��� ���V �� �� �� 2-""� �.� ;��5� ���3 �� �*E� �� ���V ;#� ��.� ��	� . ��-<� 2�N?
�0� �� ��.�A�� H	�.� ���V -#�.
 -1�	) m 7� %��� 8�.0�+ . �F�$� �� ���@"1 �L<� �# ��.� 2

=�V .1 ��5+	� �� ��� A	�5�  3� �� 8��L<� �6 � �*E����3 ���  ��N
2-��� A	�5� .  

                                                                                                                            
  gW Fluid particle   g_  Field representation gb  Lagrangian approach  gd  Eulerian approach 

e bgT  
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=�
-#� �� .
� ���� ��.� 8.�#�� �# � 8a��.
� 8�1 ���� �# � ���V 8 � 8H�<�� �.0�+ 8 %��� 
6 �� 2-��� A	�5��  ��	!8�.0�+��.� W-� -1�	) A	�5� %���  . �C.
����	� �n5� ��2 3� =���$�� 

-��� 8a��.
� =�
-#� .f�� �� ��� 2��� .����	��.� 8.�#�� =�
-#� 3� 8�E� ���:� #�� =���$�� � �	� .  
��� �+,��- � ./��   

 ;#.�3����( 7� ��./ %�/ �� %��� 82��� �6 ��.� . 8�.0�+%��� ��.�  =�@$�� ��  ��($ �
;#Y����_��   ��	!.#3�� ����  ��.
:  

( ) ( ) ( )= + +
r

ˆ ˆ ˆV u x, y ,z ,t i v x , y , z ,t j w x , y , z ,t k  )bgT(  
�6 �� �� u  2v � w ��  S��.���?p� �B> �� ��.� 8�1  8�1x  2y � z-"$E1 .  

                                                                                                                            
gT  Velocity field  g_  Cartesian coordinates 

 �01111-���   4�qqqq!	� 

=�
-qqq#� 8�qqq1 � 8aqqq��.
� 

 h6 ��.qqq� 8�.qqq� 8.qqq�#��

)qqq# 3� �>�.qqq�� �qqqqq..  

&#"2�	'  � ���3�  
�)��	 '
��45� )�787��79�(  

� J#	� �	7� �� %3�� .B� �� -"07��� ;#�� -�6 ���� .�Q�#� �# ��  � ���

�#Y�, �	� ��� . ���/�� �# �� �-O �� �	��Q�#� ���+r� ����  .�� ����	s? 

 %��Tt_u�$�� ��  %3�� =�@7��� �� ."1 8 �� �(:� �D7�-� %	.��# -����� 3�    

�� =�@7���  �?	�.� ��1	> A��)`�.5� �?	�.� ���� �-O(2 J#�-� �*"� 8�13�� .Bv3�-5� �� 8� �� 

�� �Q�#� �!	() ��� .-#�.
 �"�6 �?	�.� ���� �� .�#�� �� �	� �F"#� �� .=-�7��� ���� 8� 2JK�  8

���B?�-#�.
 .� 8� �C.
w�1  �+� �7�01 ��� 2-7� ���/�� ��6�-��� �+�� �*1N�  . �� .�#��

��?�5, �"��3 �� ���$ � 8�1 ���� ��.� �#Y�, � �Q�#� 8�1 .�� =�
-#� �,.5� .� =�r�  8�.� �	)

%��� ��./ ���.��L��� 2 ��� ����:� 8 .�#�� ����5� A�� � �� �L<� �# �� ��7, ����5������ �� � 

� ������ ������6  ..�#��E� �n5� ���.� �� �#��0� ��6 3� 2 ��0> 8�	s� � �?	? �� �	1 ^�5��� 

;���	�  8�1��6�)��.O Y��  ..0� .)��� �� .�#�� ������$��	) �� x	� �#  9��� �� -� r$*� 8��0�� 

-#�.
 8� �7C �� .1 8�	�. 

V=�  2h6 8  

t) Vo = Vo( O 

x١ 

y١ 
x 

y 

A 
�L<�  8A 2 

) t‚Ty‚ Tx VA = VA( 
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�"� .�#.5� ��� =�V ��.� ����3 y.� �� .��.� h�$� 24 .2;#�.��"� 8�.0�+h�$� W =�@$�� �� 
��($ � ;#Y���� ��  ��	!.#3�� ����  ��.
:  

=

r
r dV
a

dt
 )bg_(  

�L��� IE� 8�.�  8)bg_ ( 3�F�3 �	��+=.� 8� z$7� ��  .#3 ��	!�� =���$�� �	�:  

( ) ∂ ∂ ∂ ∂
= = + + +

∂ ∂ ∂ ∂

r r r r
rr d V dt V dx V dy V dz

a V
dt t dt x dt y dt z dt

 )bgb(  

�L��� ��  8)bgb(2∂  ����Y> z$7� #�_ � d ������ z$7� b ���.  ��A.� 8�1 �0� A��BC �?� A�� 
�L��� ����  8)bgb(2.��D� .#��<� �����B> ��  �$ � 8�14�*E�  ���3 �� ���� �	>�� � �  .��.� S��.�

��?p�  8�1�B> �� ��.�  8�1x  2y � z-"$E1  .�N?2�L���   8)bgb (�� �$�	� ;�"C �	�:  

( ) ( )∂ ∂ ∂ ∂ ∂
= = + + + = + ⋅∇

∂ ∂ ∂ ∂ ∂

r r r r r
r r r rr d V V V V V

a V u v w V V
dt t x y z t

 )bgd(  

�6 �� ��∇
r
  ��#��.
 .@�0������ ;#Y���� ��($ � =�@$�� �� ��  �� 4#.5� .#3 ��	! ��.
:  

( ) ( ) ( )∂ ∂ ∂
∇ = + +

∂ ∂ ∂

r
ˆ ˆ ˆi j k

x y z
 )bg{(  

�L���  8)bg| (�L��� �#  �� ��� 8���.� 8��?p�  4�$ � ��B> �� �6 8�1�� ��� .#3 ��	!:  
∂ ∂ ∂ ∂

= + + +
∂ ∂ ∂ ∂

x
u u u u

a u v w
t x y z

 )}g|(  
  

∂ ∂ ∂ ∂
= + + +

∂ ∂ ∂ ∂
y

v v v v
a u v w

t x y z
 )}gt(  

  

∂ ∂ ∂ ∂
= + + +

∂ ∂ ∂ ∂
z

w w w w
a u v w

t x y z
 )bg~(  

 �6 �� ��ax 2ay � az� �  S��.���?p� �� h�$� 8�1 ��B> x  2y � z"$E1 -. 

�L��� ���� �0� %�� A.�  8)bgd(2∂ ∂
r

V t 2��:� h�$�d � �#� .@#� ���*�2 ��	� ���� �� h�$� 
��� �5?�L�. ���3 �� �*E� �� ��.� ��.��D� A.� ;#� )�6 ��($ � �� �>	� ��-� (�� ��7� -1�.  A.�

 2A��( )∇
r r r
�V V 2�?�<$�� h�$�{=-���� ��  �	� �� ��.� ���.� ��.��D� � 3����� .@#� ���� �� � ���� 

�� -"�. �L��� 8�1��.�  �  �� h�$����	$�� ��($ � 8�| �� ��	�O��� =-� =��� .  
  

 ��;�� �� :�=��>�  ,��- �$
? @	 $'����	 �� ���")A./�� .  
  

8�.0�+��.� %��� �# �� ��  ��� =-� =��� .#3 ��	!:  

( ) ( )2
6 2 8 25ˆ ˆ ˆV xy t i xy t j z k

r
= + + − + +   

                                                                                                                            
gW  Acceleration field  g_  Partial derivative   gb Total derivative   gd   Local acceleration  

g{  Transport acceleration g|  Cylindrical coordinates 

e bg_  
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=�V h�$� ��-<� %��� 8�L<� �� ��    8M� ���($ �  )b 2u 2_(m  ���3 ��s T = t� � -#��6 ���.  
_____________________________________________________________ 

C��D:  

�L��� 3� =���$�� ��  8)bgd (=��� �  8�1�?�E� ���� ��1�	):  
∂ ∂ ∂ ∂

= + + +
∂ ∂ ∂ ∂

r r r r
r V V V V
a u v w

t x y z
 

( )22 8 6 2 2 8
∂ ∂

= − = + + = − = − +
∂ ∂

;   ;   ;    

r r
V Vˆ ˆ ˆ ˆti j u xy t yi yj v xy t
t x

 

2 25 25
∂ ∂

= − = =
∂ ∂

;    ;    

r r
V Vˆ ˆ ˆxi xj w z k
y z

 

( ) ( )( ) ( ) ( ) ( )( )2
2 8 6 2 2 8 2 25 25= − + + + − − + − +

r ˆ ˆ ˆ ˆ ˆ ˆ ˆa ti j xy t yi yj xy t xi xj z k  

�L<� �� =�V h�$�   8M ��($ � �� )b 2u 2_(  ���3 ��s T = t �� � .#3 ��	!� �� ��� -#6:  

( ) ( ) ( ) ( ) ( ) ( )

( ) ( )

2

2

2 1 8 6 0 1 0 0 8 1 3 2 3

25 2 25 22 40 1250

ˆ ˆ ˆ ˆa s i j s s m i m j

ˆ ˆ ˆm k i j k m s

     = − + + + − + −      

 + = − + + 

r

r  

  

��� ��E�4�� ./�� � ��'  

 3� �0E+ ;#� ��.�D$� m� 7� �� �� 8 2��� .l	� %��� ��#.> ��-<��� ; � �� ���� 6-# . �?��� ��-<�
 3� ���3 -/�� �� ��jL<� �L���#.> W�� �	*�   2-"����_  ��#.>�� =-���� �	�. 8�	*� ��-<� ;#� .
� 
 �� �6 2-��� %��� A.>��.> ���b �� -"����� �� �6 �  ��r� &m�� ��7�  -"1� . -5���.> ��� T─ T M 

 � -/���6 �#.$� �$E�� �� kg/s���  . �� �6 2-��� %��� �F/ 8�	*� ��-<� .
��0F/ ���d �� �# 
��($)�2�� ���  -"���.�0F/ ���   ��r� �� ��Q�� ��7�  -"1� . -5� �0F/ ���/T

b
L �6 -/�� �  ��

 �#.$� �$E��/s
b

m��� .  
�*��:� 8�.� ��� 82 ��� )bg_ (.G��� �� @�jL<� �L� �6 �� �� -#.���#.>  A  =-� =��� ��7�

��� .�� jL<� �L� 3� 8�	*� %��� ��.� �	C  -��	� ��0?� 2-��� �)�	"�#.�[ δδδδ  A �� -#.�@� .G��� �� 
�6 �� ��.�r

v���. ��.�r
v 3� 8�	*� ��.� ���.� ��0?�δδδδA-#�*� � ��� � �6 � ��.� �� v �� �� 
 � -� =���� �6 �� ;�7�O � ���?p�  �	:� 8�$��� �� ��.� ���.� 8y�,.
 .G��� ��E�# ��� .  ���

��.>�� ��  �� ��	� �.� ���� .#3 ��	!:  

( )
∀

= = = ⋅
r

&
m

ˆm v n A
t t

ρδρδρδρδ
δ ρ δδ ρ δδ ρ δδ ρ δ  )bg�(  

 �6 �� ��ρρρρ 2%��� �?�@C δδδδ ∀ jL<� �L� 3� 8�	*� %��� �F/  δδδδ  A ���3 �-� �� t �n̂��# ���.�  8 
 �L� ��0?�δδδδ  A���  .�!�/ �� -���� �$��� �>	� .?���� h.Q(((( ))))ˆ

r
v n⋅⋅⋅⋅ �� .��.���?p�  �� ��.� ���.� 8

                                                                                                                            
W g Flow cross-section g_  Discharge (or Flowrate)   gb  Mass flowrate  gd  Volumetric flowrate 

 �#�Eqqqq�bgT

 �?�bg{ 
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�# ���.� 8�$���� 8) vn (��� .%�.@$�� �� �L��� 3� 8.�
  8)bg� (��.> ��� ��-<�� �  ����� -#6:  

( )= ⋅ =∫ ∫
r

& n

A A

ˆm v n dA v dAρ ρρ ρρ ρρ ρ  )bgTu(  

�0F/ ��� ��-<� 2;�"c01��  � .#3 ��	!� �� ��� -#6:  

( )= ⋅ =∫ ∫
r

n

A A

ˆQ v n dA v dA  )bgTT(  

 

�%��� 8�.���.�  .#NO��� 2���l �?�@C ��-<��� 2�?� %��� 8�.� ���.�  .#NO2 3� �?�@C j#3	� 
5L<��� �L<� j�� .��D� .@#�  -"� 2���  �?�@CG��� ���l jL<� .1 ���� �$,.
 . �	� ..� �"�#.5�  24

I�	$� ��.�W�Q., �$�.� ��� ��� ��-<� �� � � ���  3� =-�6�6�  .��.� %��� �5+�� ��.� ��� �
�� � ��� �� 4#.5� .#3 ��	! �	�:  

( )= = ⋅∫
r

&

A

ˆm VA v n dAρ ρρ ρρ ρρ ρ  )bgT_(  

( )⋅

= = =

∫ ∫
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.#��<� ��.� =3�-�� =-� 8.�
  jL<� �# ����!�, �� ��#.>  �$ � 8�1 3� 4�:�! �"�#�O 8 %�-> �� 
�q:�! -5� 8��� =-� =��� .#3	� qq�� �� ��.� jqq=�.� �� �� I�	$� ��.� ��-<� � � ��qq#��6 �qq-.  
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�� �-$�� 2��.� j#3	� ��� 8�.��6 8�	0� �	:� �� ��($ � =�@$�� h� $��   �6 �<,� �	:� � ��!�,
�� ��� ��.� .#��<� 2��� �	1 ��.� ��.
.2JK�  �#H�<� ;#� 3� �":"�  � �	*���� =� �	�.  

� j#3	� 8�.�q.�L��� �q� 7� =��� 8�q=- N? 2���� ��  

*��:�q�� �� $�� 8�>q%�.@ �
q8.2 $�� x	0F� 3�q =���  

�� �	�. �� �� �1�@� �L���  8)bgT_(��   �,�#�� ��	�  

��� ����.>  �L� .��.� ��#.>":"� ;�� �	(:� q�   

 j#3	���.���!�, �	:� � 2h.Q  �:�! U.� ��%��� �?�@C �� h.Q JK��  ��� .�*��:� 8�.�  8
�/�E�2�<� 3� ����� H 8 ��.� )vm(I) �� ��  �� =���$�� ��� =-� =��� ��7� ;�C �	�.  '�($)� ��
�1��	�# x����� �� �Tu� ��� ����� H�<� 3� A�-�.1 �� .$��!�/ �  ��.� h.Q�����  8�L<� .1 x����� ��  

)mm Tu ( �:�! U.� �)b(2 6 x	0F���0F/ ��� �� �� �B ����� 2 .#3 ��	!� �  ����� -#6:  

  
( ) ( ) ( )( )

( )( )

8

1

10

80 8

=

⋅ ⋅   

= = = =

∑∫ ∫ ∑
r r

mm

mA A A

ˆ ˆv n dA v n dA vv b mm

V
A A b mm

ρρρρ

ρρρρ
       

( )17 5 26 0 29 6 31 9 30 7 25 4 18 1 7 7
23 4

8

. . . . . . . . m s
V . m s

+ + + + + + +
= =  

  

��+  � ��F�����#G �HI  
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 %��� 8�1�	��+ 3�  8�1+ .�G� ��#Y�, �	�� 8�18�<�  8M.�� � ��./ =3�-�� 2A.> 

 

 �#�Eqqqq�bg|

 �?�bgT| 

�:�! 3� ��!�,
 

 8

�"���O
) 

m
m

( 

_u 

du 

|u 

 ./��)m/s( u  _u  bu   

mm ~u  



  ����� ������ 122 

�� �.� =���$�� ��	��$E�� 8�.� ��  ������ ]��! % . �"�.� 24#.5� �$E��W ��	0F�  �� =��� 3� 8� ��-<�
 ���l)���l %��� ���V �# ��� ��-5� �� (�� �� ��� �	���> -�� �	� �>2-"� ��./ ��"#� �# . ��  ��.����

� ��-��> 8�.� �$E�� A	B��� �� ��	! �$/�� �.�
�?� 2=3�-�� � ���  8 �$E�� �# %��� ��� ;�0� 
 .��D� -"�# �-��� e.:$� �$E�� ��"#� � .>	� ��;#� �� �2x	Q	�  �?	�%	 1���V �# ��7� �� =-"1� �# 8 
 �E>�� �*E� ��./ A�@"1 �� -��> �1��> � �>#��> ;#� %��� �� �?� 2-���-� �� �>#�� ��	! � �.�
 .  

��01  %�� �(, �� �� �	
-� ���� 2����� ��2�#� �*E� ��./ 9��� ��.� 8�.��  8�1 4�$ � 
%��� ���V � =-� %�����.� ��  �� �*E� ����$� 8�1 �� ��./ �1 -""�. 8�.�%�f� 2 �� �	1 3� �0$E�� 
�� �� -#.�@� .G��� �� =-�7� �	�.K0� �# �)�� �	�. ��� �� �	�.K0� �)�� �� �	1 �$E�� ;#� 

=�.7, �-�2�� =3�-�� � ���.��D�  �>�� �$/ � -1� �� .��D� Y�� �6 ���./ �-". ���V S�<5� 2�<�</�� 
���7� =-"1�  ;#� 8 �!�) ��� ��� ;�0� �G:?.1 �� �.#3 2��� ��7� ���E� 8��� �$E�� ��-<�

-"��� �$���.�N? 2 �� 8a��.
� =�
-#� �.����  ������ �������� =-�c�O � ��	�� 8��� .  
#� �.���� 8�.� ����� ��-� =���$�� %.$"� �F/ A	B�� 3� 8.�#�� =�
� �	� .%.$"� �F/_ )CV (

����8���$)� ��� �n, ��  . �� ���l H�<� 3� 8��-5� ���� %.$"� �F/ ��� �� ��� %��� 8�.0�+
��� �!�)� . �# 8�.��?�E�  '�) 8�� %.$"� �F/ ��	� �.� h� $�� �����$� 8�1 .w�1  �	��+ ��	


���� ��� 2���-� �	>� %.$"� �F/ 3� �!�) ��� h� $�� 8�.� �!�)�� h� $��   ���:� �� �	��?�E� 
���6 �� -"� .� .8�.�%�f� 2 ��3�� �# 3� �� h6 i�.) ��1�	 � .
� ��"� ���.��B$�� ��� ��� .$B� 2# �
�� ��3�� �	� h� $�� %.$"� �F/ ��	"� . i��) �6 3� �# %.$"� �F/ ���� ��./ A�@"1 %��� �	C

��  2�	� ��-<�a#� �
 �� %.$"� �F/ �#  � -��	�-"� .��D� ���3 �� �*E .���7� �	L� �=-"1  �# 8
 %.$"� �F/%.$"� �	L�b )CS(��� �� =-� �	�.  

 ��� �� %.$"� �F/ x�	��)bgb(I) ��  ;�C8.$E��) ��� =-� =��� ��7�  . �����              
)bgbg 4?�( 2���l %.$"� �F/d )� 8�.�%�f2 �Y � �# �-�.O( =-� =��� ��7� ��� .h6 ��#.>  3�

��� �L�#�%.$"� �F/   �����6 �� �	��?�/�� 2  � ��� ��# �Y � �	L� �� %.$"� �	L� .@#� ��
�0� �	*� �6 3� ���#.> w�1 -"�.  ��-<�a#� �
 8�1%.$"� �F/ ;#� �)�� %��� �6 A.> ��0>3� 22 �*E� 

 ���3 ��.��D���  -"� .e.:$� %.$"� �F/{ ��  ���)bgbg h(2%�f� 8�.� 2	� ����  �� 8�0�O�	1 �	�
��� 3��.O %�/ .=.� 8�� �� �� 8.v�� �� �*E� %.$"� �F/ ;#� ���� ��.+ ;��3 82 %.$"� �F/ 

��� ���l �0�O�	1 �� j+�� .v�� �� �*E� ��� 2��� e.:$�. 	�> �L� 3� �	1 2�0�O�	1 ��./ A�@"1# �
�� %.$"� �F/ ���� ��.
�*<� �L� 3� � 2	) i��) ]�.$/� 3� �!�/ 3�
 -� -1� . �*��> �L� 3� �$*?�

�	�	�2Y�� �� %.$"� �F/ ���� �)	� 8��-<�  ��.
. ��  ���)bgbg i( 2��� %.$"� �F/ .#NO| 
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 �# ������� ;���� .#�� %�/ �� �� .c"O�-����  .�� �1�� .#�� ��5�� ���3 ��N
 �� -��# �F/ � 
�� �� �6 �	�. ���	� �n5� ��2*��.� � ]	, ���/ 3� !�/ Y���� � �	� .8�.� ;���� .#�� 2%�f� 
��.:$�-#.�@� .G��� �� ��� �-�.c"O %�/ �� ��  ..G��� .#�� �� %.$"� �F/ .
�  ��.� �� 2�#.�@�

�� �1�� �6 �F/ ���3  -��#)��� %.$"� �F/ .#NO (�./ %�/ �� � �)e.:$� %.$"� �F/(���  .
%�f� .f�� �1#��� h�$� ;#� �� �� �#�� �  2�	�� H	�.�� %.$"� �F/ ��� ���l .2;#� �	>� ���.����  

 %.$"� �F/��� �# � e.:$� Y�� .#NO��� #-� -1�	) �.  
�� ����� ��7�� �  =-#-O ;#� 8�.� ��#Y�, �	��+ w�1 �� ��� ;#� %.$"� �F/ A	B�� ��.����

���-� �	>� .��01 ���� -� =���� �� �	
 �	��+ 8  �#Y�, 8�1)8�<�� ��./ =3�-�� 2A.> =.�[  ( 8�.�
���� ��*$�� �$E�� .� 8�.�� �	��+ ��.����  8�1�#Y�,��Q., -#�� %.$"� �F/ ��  
 ��	$�� 8� ;#� �� ��.

�� 8-"07��� I�	� ��� A�� 63-?	"#� �.�3W��� #-#�.
 �.  
  

������	
  ���J� ��	����	 �  �@&�4#�
 ��K��	  
��01 �.� ����"#� ����� ;���	+ 2-#�.
 =���� �� �	
=-� 4#.5� �$E�� 8 �?�/ �� 2-��  ��	��+ w�1 ��

���-� �	>� %.$"� �F/ 8�.� .���6 %.$"� �F/ �� ��.���� ����� ������ �� �	C  A3� 2��� .�
�L��� �� ��� �D� ;�� 8�� %.$"� �F/ �� ��!�) .1 ��.����.��D�  �$E�� �	� �#���. ��� ;�?�� ��� ;#� 

 ��	"� �:� 3-?	"#� I�	��#.G� 3-?	"#� %�<$�� 8���� #-#�.
 �.  2�F"#� ���#�O 4#��5� �-$�� ��� �#.G� 8#� 
�� �	�JK� � �� �$)��.O �#.G� �6 ��*l� ��  �	�.  

 �� -�"� U.,.�D$� B��7�  =-"1� a#� 8  �
 � %���ba#� ��01 ��-<�  -��� A.> -/�� �� �
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�� 
	8� ��= ρρρρ∀b B = mb � m  A.> ��-<�-��� ..�D$� B �� .�D$�j��> }  �b �� .�D$�Y�.0$� d��  -"���. 
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-��� ���.� �#. j#3	� .
� b ��-<� 2-��*� �)�	"�# �$E�� �# �� B ��  .#3 ��	!�� �����  -#6:  

= ∀∫B bdρρρρ  )bgT{(  

 
 
 
 
 
 
 
 
 
  

                                                                                                                            
gT  Osborne Reynolds g_  Reynolds transport theorem gb  Extensive parameter gd  Intensive parameter 

3�
 i�.) �	1 ���� 

%.$"� �F/ 

 �0-��� 4?� �%.$"� �F/ x�	��  (h 2���l %.$"� �F/ (� %.$"� �F/:$qi 2e. (��� %.$"� �F/ #NOqq..

)4?�( )h( )i( 



  ����� ������ 124 

  
  
  
  
 
 
 
 
  
  
  
 
 

  

  
  

  

��� �����	
 L�=M	   

 2�#.G� ��*l� 8�.�8�.0�+?��� ��� 8�.0�+ �� -#.�@� .G��� �6 ��.� � ��� ���� �� �C �0� 3 2
 ���)bgdg 4?� .(�.0�+ ;#� ��8 2%��� %.$"� �F/�$��l  ����  ���3 t ��-#.�@� .G� �� �� ��� ��6 

-� =��� ��7���� = .�� =.�)V �6 �� �# =�.� �	*� %��� 3� 8��-<� %.$"� �F/ ;#� �	L� 3� ��.
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 . ���3 ��t�� 2  �	(� ��	�
�.���� %.$"� �F/ ��� ��*� ���3 ;#� �� �6 ��� �� ���� �	>� �0$E�� .��� ;�0� �$E�� ;#�  

���3 �� -��� �$��� �� �����$� ��� -5� �# � �*+ 8�1. �� ;�01 %�/ �� �� �$E��!�,   ����3 δδδδ t� �# �  ���*�
.@#�2�� 8-5� ���3  t+δδδδ t-#.�@� .G��� . 2��� ��./ %�/ �� %��� �	C �$E�� ���� �0� ���> ��  �>
=-� �6 ��� ��� ;�0� �$/ �  Y��-"� .��D�.   

�� %�/ )	.��D� ��1��� ����3 .�D$� j��> B %��� 3� )8M.�� 2��./ =3�-�� 2A.> -"���� =.�[  ( ��
��"� ���.� %.$"� �F/ � �$E�� ��.�$E�� 2��� ;#� 8�.� ���3 ��  8�1 t�  t+δδδδ t��/�� �� ��  8 I 2II � 

III  ��E<���� =-� .��/��  8�1I � II �$E�� ���� )%.$"� �F/ �# ( ���3 ��t��/�� �   8�1II  �III ���� 
 ���3 �� �$E��t+δδδδ t��� .  ��.��D� ��-<�.�D$� B ���3 �� �*E� �$E�� �� �� �� .#3 ��	! �� ��� -#6:  
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��L���   8)bgb| ( .#3 ��	! ��=�����  �	�:  

= =∑ ∑ ∑
r r r

&

CS CS CV

QV mV Fρρρρ  )bgb~(  

  

 ��;�� �9:���	
 '��
�[  .[�I $@	&�	 � �  .��M ���#[ �HI �	�� �&3�.  
  

��3�� 3� h6 �>  �/�E� �� 8�_
mm |d{ = AjI�	$� ��.� �� �  m/s|�:�! �� � =-� i��)  8�� �   

 �/�E� �� _
mm ~|uu =  Ap2��� ��#.> �B> .� �	0� ��  �� ��	).� -"�.   

)�	`(
 3� �� �<,� 8�.�� q�! .� h6 `.q�� ���� �: �q�	�� �C q=3�-����   
),( �� ��-<�q8�.<,� q�! .� ���� �q� `.
 3� �:q%�� 8�1�:�! �� R�0� ��   
) �	1 � h6 (���� �-<C  

_____________________________________________________________ 

C��D: 

)`�	( ���l %.$"� �F/ �) ��� �� 8.$E���� =-� =��� ��7� ��� �� .�� U.,  � ��.� �� �	�
 ��3�� 3� �>�.) �> �B>�:�! ����� ���l  . �	C��?p� 8J�� 8�.�� �<,�   2��� 3��� ��	� �05?�

�L���  8)bgb~ ( �> �	:� �B> ��) �	:�x (�� �)�	"�# � ��-#�O ��#.> 8�.� ���� .#3 ��	! -#6:  
  
  

=∑ ∑x x

CS CV

QV Fρρρρ  )T(  
  

  �-$�� 2�L��� �C �0� ���*� ;��5� 8�.���?p� 8 ��.� �<,� h6 %.$"� �	L� ��   
�� m 7� �	� . %.$"� �F/ �� �> ���� �0E+ �� �B"�)8���� ��#.> ( �� �����?p�  ��.� �<,� 8
�F�$��� �2�0� .�! �C �0� ���*�  -�����<� �   %.$"� �	L� 8��?p� -���-� 8� .� ;��5� 8�.� 3� �1�.�

�� =���$�� ��� �� =-� =��� ��7� ��36 A�.
�#� �	�.�#�$�   �> ��	� �� �1�@7#��36  ��� Q �� h6 
�6 �0� ��#3  -������ ��.� � #�  2���-��� ��7�  �� ��7, �� -1� jL<� .1�> .<�P�*# .�E0�6 ��7, .��.� 

��� .z,� �B> ��2���� �3� 3� ���� 8�.��  �?�E��0�  � ��.
��!�, �� �	1 ��.� 8�.��   ���E� =��	� 8
�� �6 3� �� ��� Y�C�� �7C ��	� �.� ��	O .J�� 8�.�� �05?� Rx �.��#� ��� �:�! 3� ��   �� � � 8

�� ���� %.$"� �F/ %��� �	� . ��./ =3�-�� .��D� .l� �� �.�� ;#�)h6 ��#.> �B> .��D� ( h6 ��7, �
�� ��� =-�6 �	>� .N?��L���   8)W (�� ;�"C �	�:  

patm 

Rx 

Vj 

Aj = |d{ mm� 

| m/s 

Ap = ~|uu mm� 

CV 

e bgd  
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( )( ) 2− + = − = − +j j j j j x atm pV A V V A R p Aρ ρρ ρρ ρρ ρ   
2= +x j j atm pR V A p Aρρρρ  

( )( ) ( ) ( )( )23 2 21000 6 645 101300 8600= +xR kg m m s mm Pa mm  
23 2 871 2 894 4= + =xR . N . N . N  )_(  

��01 =-0� �0E+ 2���-�O �� �	
 8��7, 8�.�� 3� ���� �.�� ;#� ��� .�E0�6 �� H	�.�  . �	CRx 
<� 2��� h6 .� �:�! `.
 3� ���� 8�.�� 8��E� �:�! .� h6 `.
 3� ���� 8�.�� ��-Rx �� �?� 

��� �� �c�6 `r) �B>�� =-� =��� ��7�  -���.  
),( .�E0�6 ��7, 2�	� �$,.
.G��� Y�� �:�! �7O 8�	1 .
� 0E+ .�qqq �  

 ���� �0��!q�� ���� �: �q�	 . �:�!.� =���� 8�1�.�� ;$,.
 .G��� ��  
 2��36 A�.
�qqq#� z��qqL���qq.5+�� 8�qq# �qq ��� *�qq#� ���qq.@2�� q �� 8�.  

J�� 5?�qqq�0Sqq��> 3�  �	1 � h6  �:�! .qq��� !qq#3 ��	q.����  #6qq-:  
894 4 871 2 23 2

Tx x atm pR R p A . N . N . N= − = − =  
�:�! .� h6 �> `.
 3� �<,� 8�.�� 2�?�/ ;#� ��2J�� 8�.�� �� .��.�  ��� �05?�.  

  

 ��;� ��P\ Y \T 9O  
  

 3� �� 8�	0� �>� �� ��3�� �#q ��.m/sTu .L+ � _u����  .$� i��) =-q�   
� ��q ��	).�:�! ��  A.> �� 8�kg _, �� �� �6 2qq��!� 8 h=�@���  ����. ��-qq<�  

�qqq�!�, 8 h� qq$� SE/ .q�� ��� .��.� . )bkg/m Tuuu  = ρρρρ2 _m/s ~T/� = g:(  

_____________________________________________________________ 

C��D: 

 ;#��?�E�%�f� ��*�  �*+ ]  %�f�)bg~( [��� .;#� �� %�f� �� ;#� ����� �B"�  .Q�/ %�f� �� �� ���2 

�L��� 8 �+ �B> �� ��./ =3�-�� # �$�	� ��� � �	�.G��� -#�� �� �3� 8�.�� .l� �N?  �,.
 . 3� =���$�� ��

�L��� 8 )bgb~(�+ ��-$�� �� #�?.$"� �F/ 8�.� ����� ��1�	) 2��� �:�! �� �>�.) �> ���� �� :  
2− − ∀ = −z w j jR V Aγ ργ ργ ργ ρ  

2 2 2

4 4
− − = −z j j jR D h V D

π ππ ππ ππ π
γ ργ ργ ργ ρ  )T(  

 �6 �� ��RzJ�� 8�.��   2�:�! �05?�∀ 2%.$"� �F/ �)�� �� h6 �F/ Vj 2�> ��.� Aj �L� 

 � �> jL<�Dj��� �> .L+ .�+ �B> �� �:�! %��5� �� �>	� �� #1�.�� x	0F� 2��+ 8�# �:�! .� �

��� .�! .��.� .�:�! �3� �� �> `.
 3� ���� 8�.�� 2�N?��� .��.�  .�� 2.@#� ���*� mpg = Rz���  2

 �6 �� ��mp��� �:�! A.>  .�N?�L��� 2  8)T (��  .#3 ��	!���� -#6:  

Rx patm 

h 
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2 2 2

4 4
− = −p j j jm g D h V D

π ππ ππ ππ π
γ ργ ργ ργ ρ  

( )( )( )

( )22

2 2 23

101 5
5 4

4 9 811000 4 0 02
= − + = − + =

p j

j

m V m s. kg
h . m

gD . m skg m . mρ πρ πρ πρ π ππππ
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� ��q����3 .#3 q	#qL� �� �q<� �q> jLq ��#.uT/u$� qj�.�.�� � q�  

u_/u7� ����l .� S5��.$� q� =��� ��q��� =- .�3� ��3 �� h6q#	q�  

du��� ;�	��  .`.! �� 28M.�� �,� 3� .G� ��?p� �+ 8# 8�.�� �h6  
���� ;�	�� -"C �#	��3 .� )bkg/m Tuuu  = ρρρρ:(  

_____________________________________________________________ 

C��D: 

 ;#� ���?�E�!� 3� � %��� ;�� e��L`.! ��-�  �� .G� �	��0� �$,.
.G��� ��.� 8�.�� �N? �  �	� .
�L���  8)bgb~ (�+ 8�$��� ��#��#	��3 ���� %.$"� �F/ 8�.�  �� ���� .#3 ��	! -#6:  

( )( )2 2 2 2z w z wR W p A Q V R W p A QVρ ρρ ρρ ρρ ρ+ − − = + + = + +;  

( ) ( )( ) ( )( )( )2 3 3
40 800 0 01 1000 0 02 2 88= + + =zR N Pa . m kg m . m s m s N  

  

 ��;�� ���:���	
 '��
�[  .[�I $@	&�	 ���   .��M ���#[ �HI �	�� �&3�. 

?	?q� 8�L+ �� q .mm Tbuu# �� �� h6 q�� �q� =�
�.q]. �6q$"� �q�<  
�� -"� .���� ��5+	�q
�<� �q) �# 8���� jqE� �� �q> .�q#.q��  

7� ��� �� �?	? �>�.) �q��� =-� =��� �� .L<� ��q>�.) jq2�  
6�� h �� .�E0�6 ���� �> ��	! ��.
 .�?	? �� ��7, .#��<� 8�1  

;�#�O � ������ �� �) ���  �� .��.� S��.�kPa _u � kPa _{���  .�) 8��-:� �� �?	? �F/  
 .��.�b

m b �) �3� � kN Tu���  . ��#.> ��� .
�/s
b

m T{���� �-<C �) �� ���� 8�.�� 2-���   
_____________________________________________________________ 

C��D: 

.�E� .��D� 3� ���� ��./ =3�-�� ��-<� .��D� �F"#� �� 2�) �� h6 8�.�� .��D�  
7,q01 � 8��q�"cq?	? �3� ;q� ��� .F/q$"� �q �� %.�q��� ��q� ���� �� q�  

E��)q8.$7� q� =��� ��q��� =-. �	C >q#.q#�O ��q ��� ��-#3	� �q��.� j  
Y���$,.
.G��� �)�	"�#  �� �	��L��� 2  8)bgb~ (�� .#3 ��	! �� �� -#6:  
  

1 21 2 p pV Q V Q R F F Wρ ρρ ρρ ρρ ρ− + = + + +
r r r r r r

 )W(  

z 

  

x 

 8���� jL<�m) u 2u 2tu( 

�) jL<�  

 m) u 2Tb 2|u( 

�>�.) jL<�  

 m) Tb 2b_ 2du( 

�) jL<�  

 ) u 2

pT AT 

VW 

V� 

p_ A_ 

)T(  

)_(  
%.$"� �F/ 

m/s _ = V 
_m/N ~uu = p 

x 

z
 

Q 
)T(  

)_(  
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�6 �� ��
1

VI�	$� ��.� 2
r
RJ�� 8�.�� 2�05?�

r

pF�� S��.��.�� 88��7, h6 2
r

W %.$"� �F/ �3� 
�6 �)�� h6 �3� � �?	? �3� ����J#	�.#3 �  8�1) W ( �)� (%.$"� �	L� �� H	�.����  . 3�

�F�6#�  ���� �f") �� .@#-�# %.$"� �	L� .� ���� �	1 3� ���� .�E0�6 ��7, 8�1�.�� -""� ���� 8�.�� 2
 ���� .�E0�6 ��7, 3��?�E��0�  ��.
.  2;#�.��"�.�D$� 8�1�L��� �� �	>	�  8)W (�� ���� .#3 ��	! -#6:  

( ) ( )
1 21 1 2 2 1 1 2 2= = = = − = − ∀ +

r r rr r r

p p b
Q Q

ˆ ˆ ˆ ˆV n ; V n ; F p An ; F p A n ; W W k
A A

γγγγ  

�6 �� ��n̂��# ���.� 8 2%.$"� �L� ∀ � %.$"� �F/ �� h6 �F/ Wb�) �3� ���  .��# 8�1���.� 
 %.$"� �	L� ��)T ( �)_ (�n, ��($ � 3�#�) 3� -5� � �*+ �?	? ���  .#3 ��	! �� �����  -#6:  

( ) ( )
( )1

2 2 2

1
13 10 0 793 0 610

13 0 70 60

= − = −

− + −

r ˆ ˆ ˆ ˆn j k . j . k

m

 

( ) ( ) ( )
( )2

2 2 2

2

1
13 19 20

13 0 32 13 60 40

0 426 0 623 0 656

= + −

− + − + −

= + −

ˆ ˆ ˆn̂ i j k

m

ˆ ˆ ˆn̂ . i . j . k

  

 .#��<� �"#Y@#�> ��]	,�L��� ��   8)T (���� ��1�	):  

( ) ( )1 2 1 1 2 2
   

= − + − − − − ∀ +   
   

r

b
Q Q ˆˆ ˆ ˆ ˆR n Q n Q p An p A n W k
A A

ρ ρ γρ ρ γρ ρ γρ ρ γ  

( )
2 2

1 1 2 2

   
= − + + + − ∀ +   

   
   

r

b
Q Q ˆˆ ˆR p A n p A n W k
A A

ρ ρ γρ ρ γρ ρ γρ ρ γ  

( )
( )

( )
( ) ( ) ( )

( )
( )

( )
( ) ( ) ( )

( ) ( ) ( )

2
3

23

2

2
3

23

2

3 3

15
999 20000 1 3 0 793 0 610

44 1 3

15
999 25000 1 3 0 426 0 623 0 656

44 1 3

9810 3 10000

 
 

= − + − + 
 
  


 

+ + − − 




 +
  

r m s
ˆ ˆR kg m Pa . m . j . k

. m

m s
ˆ ˆ ˆkg m Pa . m . i . j . k

. m

ˆN m m kN k

ππππ

ππππ

ππππ

ππππ
 

86 4 29 2 26 0= − +
r

ˆ ˆ ˆR . i . j . k kN  

p� ;#� %�/�� ��O ��
-"��	) ;1V �� %� 6� -#��.C  �0� .1�v ����5� ;#� �� ��.� 8�.�� �	� . -#��
=-#-O .f�� �� ��.� 8�.�� ���6.� �� ���� ��Bv� ������ 8�1��� ��	�� J� 8���  . ;#� ���?�E� 

�� U., �	�-��� �?	? 3.� 3� ��.�� �0� ��-<� �� %.$"� �F/ 3.� ��  . �� ��.� 8�.�� ��	! ;#� ��
�0� ���� %.$"� �	L� �	�.;#�.��"� 2J�� 8�.�� �<�</ ��  ��.� 8�.�� ���� �05?��� Y��  �	�.  

  

 �#�Eqq�bgb�

 �?�bg|_  



�L��� 8�1%��� ��#.> �?�.@$��  139 

��X �����	
   �Q- � ]�>�� ���#G �HI �	�� ��_ .G�I $@	&�	 � ��WD  

��01  � � �� �� �	
)bgbgb (%.$"� �F/ 2-� .�Ve.:$� 2 8.�E� �� ���l ��.� �� � h�$� ��-� 
�� ��./ ��<$E� -"� .��� %.$"� �F/ �� .#NO2  .G�-� ���l ��.� �� %.$"� �	L� ��./ I<,

��� .�L��� ;$,.
.G��� �� 8�1) bg_d(2 ) bg_| (�) bgb|(�L��� 2  %.$"� �F/ 8�.� ��./ =3�-�� 8
 h�$� ��-��� �� .#3 ��	! �� -#6:  

( ) ( ) ( )
∂

+ ∀ + + ⋅ =
∂ ∑∫ ∫

rr r r r r
r cv r cv r

CVCV CS

ˆv v d v v v n dA F
t

ρ ρρ ρρ ρρ ρ  )bgb�(  

�L��� �C �0� %�� ���*� 2��-#�O ��#.> 8�.�  8)bgb� ( `N/�� �	�� ��1�	)  ����:  

( ) ( )+ ⋅ =∑∫
rr r r

r cv r

CVCS

ˆv v v n dA Fρρρρ  )bgdu(  

�L��� �C �0� ���*�  8)}gd�( �� ���� .#3 ��	! -#6:  

( ) ( ) ( ) ( )+ ⋅ = ⋅ + ⋅∫ ∫ ∫
r r r r r r r
r cv r r r cv r

CS CS CS

ˆ ˆ ˆv v v n dA v v n dA v v n dAρ ρ ρρ ρ ρρ ρ ρρ ρ ρ  )bgdT(  

�L��� R���.� �@$�	�O 8�  2��-#�O ��#.> 8�.� �L��� ���� �0� A�� ���*�  8)}gdW (��� .�! .��.� .
�N?2�L���   8)}gd� (�� !�� =��� .#3 ��	 �	�:  

( )⋅ =∑∫
rr r

r r

CVCS

ˆv v n dA Fρρρρ  )bgd_(  

  

 ��;� ��+�\ Y a\ X9  
  

�> �<,�  ��.� �� U �� i��) %3�� 3�  �	� .�L�h6 �> �>�.)   
 .��.�A��  -��� . �> ;#� .
��:�! �� �+ 8# ��.� �� �� �0u ��./   
�� "�qqq2- �qq).qq	"� ��qqqq�� 2-qq� ���� 8�.qq:�! .qq� �qq.��. ��� ��:  

_____________________________________________________________ 

C��D: 

�L��� ) bgd_ (� ��*� �� �?.$"� �F/ 8�.�%�f )bg~ (���2 ��./ 8�$��� �� �:�!��  ��� �� =�.� �	� .
 %.$"� �F/ ��	� e.:$� �� ����� �B"��?�E� .Q�/ 8���  .8���� �L� �� �B"� �F"#� �� �� �> 
�L��� �C �0� %�� ���*� 2%.$"� �F/  8)bgd_ (��?p����� .� � 2.@#� ���*�  

( ) =
r r

xr r xV V A Rρρρρ  )T(  
 �6 �� ��RxJ�� 8�.��   �05?��:�!� �> .� 

r

rV��� 8���� jL<� �� h6 �> �*E� ��.�  . ��
jL<� ;#�2 � %.$"� �F/ ��.� 2z�L� ��.� �� �L��� �N? 2-"$E1 �$��� �# �� �*E� ��.�  8���.� 8 

)bg_d (��  .#3 ��	!�L��� �� �#-*� �� .?���� 8� ��.
:  
   

U u 

A 

%3�� 

�:�! 



  ����� ������ 140 

= − = −r cvV V V U u  )_(  
�L��� S��.� ��  8�1)T ( �)_ (���� ��1�	):  

( ) ( ) ( )2
= − − = −xR U u U u A A U uρ ρρ ρρ ρρ ρ   

�F"#� ��  U.,��� =-�.� �� �> �B> � ��.� ��-<� ��  �� ��	)�:�!��� ���l .  
  

 ��;� ����\ Y \Y 9^  
  

� z��L� h6 �>qO �# �� .#3 ��q�� � =�	0� ��	).� =. =3�-�� 8 °T~u   
�� .�E� .��D� -1�.��-<� �� .��.� =.O ��.�   A	�5�u���  .�� ����-� .
�  

�0#Y��� =.O �� �?�<$�� ��	� ���� �-<C h6 �> ��.� 2���� �� �	)    
_____________________________________________________________ 

C��D: 

 ;#��?�E� %�f� ��*� )bgT_ (=3�-�� �� h6 �> �� ����� ;#� �� 2��� 8 °T~u�� .�E� .��D�  -1� �� � 
� �� �>�.) ��#.>� �� �	>� ���6 .�� �� 8.�
��� �L��� 8 ) bgd_ (%�f� ��*� �?.$"� �F/ 8�.� )bg~ ( �

8�$��� ������ ��1�	) ��*�	�� ��./ :  

( ) ( )
2

2= ⋅ = −∑ ∫ ;
r r

x rx r x j j

CV CS

F V V n R A V uρ ρρ ρρ ρρ ρ  )T(  

 �6 �� ��RxJ�� 8�.��  ��*�	�� �05?�2 �> .� 
r

rV � 8���� jL<� �� h6 �> �*E� ��.�Aj �L� 
��� �> jL<� . =.O �� �?�<$�� ��	��� � .#3 ��	!� �� ��� -#6: 

 ( )
2

2= = = −
r r

x j jP R.u R u A V u uρρρρ  

$7� ��z �L��� 3� 8.�
 ��-<� 2]	, 8 Vj  .f��-/ ��	� 8�3� ���� � .#3 ��	!� �� ��� -#6: 

( )2 22 3 4 0
3

= − + = =;
j

j j j

VdP
A u V u V u

du
ρρρρ   

  

 ��;�� ��O:���	
 '��
�[   �]�>�� ���#[ �HI �	�� ./��. 
 

 ��.� �� h6 �>m/s du=.O ��   ����":�� 8:�! �� ��q� 8���� ��.+ z,�   
�� ��	).� -"� .�� Y�� =.O ��.� m/s T{ ��� ��./ �� .�#��3  8��.�  

 �>�.) z�L� .��.� h6 �>°Tbu��� . 2-��0� ���l �> jL<� �L� .
� �#��3 ��-<� 8  �� =.O jL<� 
�>�.)) �#��3  8θθθθ ��� �� ��� (� ��� -#��6 ��� .`.! h6 � �	1 e��L!� 3� -�"� .G�.  

_____________________________________________________________ 

C��D: 

�� ��./ =.O ��.� �� �� ��� h6 �> ���� e.:$� %.$"� �F/ -"� .�L��� �@$�	�O 8 ��7� 

m/s T{ 
m/s du 

°Tbu 

θθθθ     

Vj 

u 
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�� -1���� ��E�# ��-#�O ��#.> 8�.� �>�.) � 8���� �*E� ��� ��  .�F�6 3�#�  �> jL<� �L� ��
 2��� =-� U., ���lTVr = _Vr ��� . jL<� ��)T ()8���� jL<� (z�L� ��.� �� �F/ � �*E� 2
��� �$��� �# �� %.$"�� �N? �L���   8)bg_d (�� �� .#3 ��	! �� -#6:  

( ) ( )
2 1 1 40 15 25= = − = − =r r cvV V V V m s m s m s   

 jL<� ��)_( 2�#��3 �� �*E� ��.�  2=.O 8θθθθ�� i��) 2 �	��  ��.� � %.$"� �F/ ��.� 2z�L� ��.� 
-"$E�� �$��� �# �� �*E� . �� �>	� ���L���  8���.� 8)bg_d(��� � .#3 2 jL<� �� )_ (�� ��	� ��	�:  

( )
2

130 130
=

−
o o

r cv
V V

sin sin θθθθ
 

( ) ( )
( )

( )
2

50
130 130 0 766 0 479 ; 158 6

80
− = = = =o o ocv

r

m sV
sin sin . . .

V m s
θ θθ θθ θθ θ  

 jL<� �� �>�.) ��.� 2;#�.��"�)_ (�#��3 8���� ���l .v�� �� �*E�  8°Tbu .v�� �� �*E� � �>�� 
���� ��.+ =.O 8�� �� e.:$�28���� �#��3   =.O 8°|/T{~ =  θθθθ ���.  

  

��X �O .[�I $@	&�	 b�>�! c��U  

05�	P� �# �/ �?	B� 8�.� �?�E��� =���$�� %.$"� �	L� �� ��.� �)�	"�# j#3	� 3�   2�	�
�?�/�� ���E�� �)�	"�# �*?�[ %.$"� �	L� �� ��.� j#3	�  .�� 9��� ��� ;#�  �� �	��L���  8)bgb| (

 �#�L���  8)bgd_ (�� ��.@� ���6.� �$���.� ;#� ��.*> 8�.� �� �*#.Q 3� .l  A�� ��:(� S#.Q =3�-��
��./W 2ββββ�� =���$�� 2 � ��� ;�?�� �� �	��� 8-"07��� I�	  A��3	��E"#_-#�.
 �,.5�  . 2�6 �� �>	� ��

�L��� A�� ���*�  8)bgb| (�� ��:(� .#3 ��	! �� �	�:  

( )⋅ =∑∫
rr r

CSCS

ˆv v n dA QVρ βρρ βρρ βρρ βρ  )bgdb(  

 S#.Q ��-<�ββββ@$E� ��#.> ��.� j#3	� �� ���� � . 2�)�	"�# ��#.> 8�.�T = ββββ�� � . �� �>	� ��
�L���  8)bgdb(2 S#.Q ββββ�� %.$"� �L� .1 8�.�  ��� .#3 ��	!:  

  

( )⋅

=

∫
r r

r
&

A

ˆv v n dA

mV

ρρρρ

ββββ  )bgdd(  

�*��:� 8�.� ��� ���Y?� ��.� j#3	� ;$E��� S#.Q ;#� ��-<� 8 . ;#� %�/%�p��� ��O  6 .
� �� -#
#3	�-��� A	�5� ��.� j�*��:� �� 83��� .@#� 2  S#.Q 8ββββ�L��� A�� �?�.@$�� ���*� �	C 2�E��   8
)bgb|(��� �*��:� ���+  .��#.> 3� 8��-5� 8�.� S#.Q ;#� .#��<� 2�<�</�� =-� �$)�"� 8�1 m 7� 

�� ��#.> x	� ;$E��� �� � ��� �.Q ;#� 3� ��	�#�.� =���$�� S . S#.Q �� -���� �$��� ��# ��ββββ .1 8�.� 
 ��.� j#3	� x	�)��  Y> j#3	��)�	"�# (X�Y� ��� �# �-� 3� .�.  

                                                                                                                            
gW  Momentum correction factor  g�  Bousinesque 

m/s T{ =Vcv  

Vr   

V 

°Tbu  
θ  °Tbu− θθθθ 

 �#�Eqq�bg|b

 �?�bg|~   

  �#�E�bg|�  2

bg�u            � 

bg�d  
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��X �X���	
   .G�I $@	&�	 ��#� �  

�L��� 8  �L) ��./ =3�-�� H�*��� ���� 8�.� 2-� =���� �6 �� ;�7�O � � �� �� �L) ��./ =3�-�� 
��� �6 .� ���� 8�1�.�� �� ��#.> .�E� 3� 8���E� ��#��-"B� �2 .@"?W 8�1�.��  %	/ �$E�� �# .� ����

��� 3��� ��	� �	:� .�� �C.
� �L��� 3� ��	� �E� ;�"C �/ 8�.� ��./ =3�-�� 8#�$�� �� �?� 2�.� =��
.@"? ���L��� �� �$E�� �# .� ���� 8�1�.�� � ��./ =3�-�� .��D� 3� ;$,.
 -#-> 88��   A�� =3�-�� .@"?
��./_ ��� �,�# ��1�	) .=�@$�� 3� �0B� � � �1#���  =�@$�� ���� �� ;����	��	� A�� �1# ��*+ 3� �
�0O 2;���	��� =.�[� 2���	1 2 �	�2�L��� 3� =���$�� ��   ��./ =3�-�� .@"? 8���:���  -�	�.  

�L��� ��*l� 8 �� x�.� �$E�� �# 3� �� ��./ =3�-�� .@"?  ��"� . ��� �� �	>	� �$E��)bg| ( ��
-#.�@� .G��� .�L���   =3�-�� 8�L) ��./=�V 8�.�   ;#� 3� 8� A.> �� �$E��dm��  ��� .#3 ��	!:  

( ) =
rr

pp

d
m v F

dt
δ δδ δδ δδ δ  )bgd{(  

  

���� ���.� �� =�V ��5+	�r
r��� =-� =��� ��7� ��� �� .�L��� .@"?  8)bgd{ ( Y�.� �� �*E����($  

�� ���� .#3 ��	! -#6:  

( )× = ×
rr r r

pp

d
r m v r F

dt
δ δδ δδ δδ δ  )bgd|(  

�Q�#� ;���	+ �0� ��2 �L��� �� ]	, 8 ���� .#3 ��	! -#6:  

( ) ( )× = ×
r r r r

p p

d d
r m v r m v

dt dt
δ δδ δδ δδ δ  )bgdt(  

8��#3 ��-5� 3� ��7$� �� �$E�� �# 8�.��V =�L��� 2���   8)bgd| (�� �� �� ��	� ��	� .#3 ��	!:  

( ) ( )× = ×∑∫
rr r r

syssys

d
r m v r F

dt
δ δδ δδ δδ δ  )bgd~(  

/ 2��� ���l �$E�� A.> �	C �0� %�.@$�� -�C�L���   8)bgd~ ( � ��� ���l�� z$7� �	��.O� ��  ��	�
��� ��.+ %�.@$�� 3� ��.��. �L��� 2�N?  8)bgd~ (��  �� .#3 ��	! �� -#6:  

( ) ( )
syssys

d
r v m r F

dt
δ δδ δδ δδ δ

rr r r
× = ×∑∫  )bgd�(  

  
  
  
  
  
  

                                                                                                                            
gW  Torque  g�  Moment-of-momentum equation 

  �0-��^      �# ��5+	�3� �#�0� 

;#Y���� ��($ � =�@$�� �� =�V.  

y 
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z 

r
v

r
Fδδδδ

�$E�� 

r
r

δδδδm 



�L��� 8�1%��� ��#.> �?�.@$��  143 

�L���  8)bgd� (�L��� 8��� �$E�� �# �� ��./ =3�-�� .@"?  .  
� 8�.��  ����6 ����L��� 8 .@"?  �� ��./ =3�-�� �L��� 3� ���.��D� ��-� � ���l %.$"� �F/  8
-?	"#� %�<$���� =���$�� 3 �	� . ��� ��# �$E�� �� �G:? .1 �� �� �?.$"� �F/ 8�.�)�L��� ��*l� �� 8  

-�"� �5>�.� 3-?	"#� %�<$��( 2 .@"? �$E�� .� ���� 8�1�.���1�.�� .@"? ��01#�F/ .� �� ��� � %.$"� 
�� ���� �	�. ��-<� .�D$�.��.� j��> ( )×

r r
r vm = B � .�D$�Y�.0$� ( )×

r r
r v = /m( )×

r r
r vm = b���  .

�N?2�L���   8)b gd~ (�#.G� 3� =���$�� ��  3-?	"#� %�<$�� 8 ���.��D� ��-� � ���l %.$"� �F/ 8�.�
�� ! .#3 ��	���� -#6:  

( ) ( ) ( ) ( )∂
× ∀ + × ⋅ = ×

∂ ∑∫ ∫
rr r r r r r

1442443144424443 14444244443
CVCV CS

ˆr v d r v v n dA r F
t

ρ ρρ ρρ ρρ ρ  )bg{u(  

  
  

�L���  8)bg{u (�L��� ��� ���.��D� ��-� � ���l %.$"� �F/ 8�.� ��./ =3�-�� .@"? 8.  
  

 ��;�� ��X:���	
 '��
�[  �.��M ���#[ �HI �	�� .[�I $@	&�	 ��#� . 
 

��� ��� ��� ?	? �� h6 2��q� L+ �� 8�q .mm T{u� �� � 3q4<  
���)��� 8���#.> %�/ �� ��� ��Y#�6  ��� .�?	? .� ���� .@"?  
�� ��q��  =�
A3� �� �� 2h6 �	1  ?	? �3� �q7� �q�� ��� �q�	2   

��  �q��-#��6 .�3� -/��
 q%	?	? q� �q��.q .kg/m bu7, � q��   
�L<� �� h6 �*E� 8 A .��.� kPa |u��� .  

  
_____________________________________________________________ 

C��D: 

 ��� �?	? ���� ���l %.$"� �F/����� =-� =��� ��7� ��� ��  .�L��� 2��-#�O ��#.> 8�.�  .@"? 8
��./ =3�-��] �L���  8)bg{u[(�� ��.� �)�	"�# j#3	� U., ��  �� =��� .#3 ��	! �	�:  

( ) ( )× = ×∑ ∑
rr r r

CS CV

r v VA r Fρρρρ  )T(  

I<, ��#.> �	L� �� %.$"� A � D��� $�� %.$"� �F/  ��� .#3���� �	>� .  .@"?.�E0�6 ��7, 8�.�� 
��.�  �� ���� �?	? `.
 �� �	�2 �!.��� .�)�� ��7, .@"?  �� �?	?  jL<�A2 �?	? �3� .@"?   8AB�  

�� ��./ =3�-�� .@"?  jL<�A ;#� � ��� .�! �� �6 .
�)� �� �� ���.� �����# 2  � ��� .�! .��.��# 3� 
�-*���  ��N
. �� �>	� �� 2.@#� `.
 3��L���  8 �@$�	�O��  � ��� ��7� ��	�� ��.���#.> ��  j
�<� 

A � D��� ��E�#  .�N?2 �L���  8)T(��  ���� .#3 ��	! -#6:  

 =3�-�� .@"? m?�) ����3 y.�

 ��./=-��N
%.$"� �	L� 3�  

 =3�-�� .@"? .��D� ����3 y.�

%.$"� �F/ �)�� �� ��./ 

 .� ���� 8�1�.�� .@"?

%.$"� �F/ 

z 

y 

x 

m _  

m b  B 

A 

 md  

    m/s} 

C 

D 
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( ) ( ) ( ) × = × + × + 
r r rr r r r

RC BC CD
r v VA r W r W Tρρρρ  )_(  

 

 �6 �� ��
r

RTJ�� .@"?  ��� �05?� .� �>	� ��2��� �  
��?p� 8�1L��� q�  8)_ (�� .#3 ��	!��:� q�� �* �q-�	:  
  
g jL<� �� C:  
  

( )2 2
2 3 4 3 0 15 0 0177

4
= + − = = =

r
C C

ˆ ˆ ˆ ˆr i j k ; V i ; A . m . m
ππππ   

( ) ( ) ( ) ( ) ( )( )
( )

3 2
2 3 4 4 999 3 0 0177

636 847

  × = + − ×    

 × = − − 

r r

r r
C

C

ˆ ˆ ˆ ˆr v VA i j k i kg m m s . m

ˆ ˆr v VA k j

ρρρρ

ρρρρ
 

g��!�, ��   8BC: 

( ) ( )
( )( ) ( )
( )( )

( )
3 3

2

3 30 9810

1 5 4 915

3 0 0177

 +
 

× = − × − = − 
 
 

rr

BC

m kg m N m
ˆ ˆ ˆ ˆr W . j k k i

m . m

 

g��!�, ��   8CD: 

( ) ( )
( )( ) ( )
( )( )

( )
3 3

2

2 30 9810

3 4 407 1220

2 0 0177

 +
 

× = + − × − = − 
 
 

rr

CD

m kg m N m
ˆ ˆ ˆ ˆ ˆ ˆr W i j k k j i

m . m

 

�L��� �� ]	, .#��<� �"#Y@#�> ��  8)_ (=��� �  83������ ��1�	):  

305 440 636R
ˆ ˆT i j k

r
= − −   

2�F"#� �� ��./ =3�-�� .@"? )636 847− −ˆ ˆk j (=-0� �B� 8�J�� 8�.�� .@"? ��  ���� �05?�.  
  

 ��;�� ��^:���	
 '��
�[  � � ����� �	�� .[�I $@	&�	 ��#�  �&3�.  
 

#.>qh6 �# �� h6 �� ^�O z��L� �� ��� ���q� ��� �� q8����6 8�.0C q ;  
 �� �� ��� ��� �@� .G���q-#. .�� �� h6q �L/s T�?	? 3�  8�<,�  $�� ����q =�@  

�� �	��?	? ���� �  8  8�	0��#�O 8h6  ^�O��  ��.
. h6 2JK�2 �� ����  
<,� 8�3��q�� =�@$�� � �q�	��3�� 3� �  �1 �3�� �� 8 B> ��q.� �	0� � �3��  
i��) �� �	�. h6 �).C 9��� �0� ;#� ^�O �#��3 ��.� �� 8� ωωωω �� ��.
. �/�E�  ��3�� �>�.)

_
mm bu�   �3�� .1 I�	$� x�5�mm _uu��� .  
)`�	( A��<� .@"? 8�.� ��� �?�/ ��  ;#��?�E�@C ���� ��	  
),(h6 �).C 3� �� �$?�/ 8�.� A��<� .@"? ��-<�  �	� 8.�
	�> ^�O�-<C ����   
)d( ��-<� h6 �� �$?�/�� A��<� .@"? ^�O�#��3 ��.� ��   8�rpm {uu  �-<C -).c�����  

ωωωω    

%.$"� �F/  
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y 
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C  
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r

BCW r

CDW

r
BCr

r
CDr

e bg{  
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)'(�#��3 ��.� ��-<� 2-��� .�! �� .��.� A��<� .@"? �c��"C   8����� �-<C  
_____________________________________________________________ 

C��D: 

)`�	(�E� ;�"C �/ 8�.� #=�@$�� �� �� �� �1# 3� ����� �.���� ;���	� � �0O ��*+2 ��.+ �� ����Q., .#3 
�� �$,.
 .G��� �	�:  

• �#��3 ��.� ��� ���l ����� 8�. 

• �L���  ���:� ����� �	:� �# %	/ ��./ =3�-�� .@"? 8�� �	�. 

• ���� �� ��.� j#3	� %.$"� �	L� 82�� �$,.
.G��� �)�	"�#  �	�. 

•  ���!	() �	C�?�E� ��E�# �1��� A�0� �� ��#.> x	� ;#� 2���  ������� ��-#�OW��  -"���.  
�E#� ��� �� ���.��D� ��-� ���l %.$"� �F/ %.$"� �	L� �8����   �>�.) ���7� ��� �� =��� 

��� =-� .8���� �L�) T( �� ����� �	:� �� jL+ "�- .��01 ����� �	:��#�O �	:�  8 ��� 8�	0�. 
���@"1 h6 �� ^�O �� 2-).C#.> q��  ���F/ ;#� "�q��� ��-#�O�� %.$.  
�	C 2��� ���� A�0� �*� �1�  .@#-012-"$E1 �+0��#.> 8�.  ������ .1  

�$,.
.G��� ��-#�O  �� �	�.2�N?   

( ) 0
∂

× ∀ =
∂ ∫

r r

CV

r v d
t

ρρρρ  )T(  

     

*�q��� A�� ���qLq�  8)bg{u (I<, 
�<� ��q j)T (�) _(  
p���? ����#3 2q�� �� �.q�� ��� ;#� L<� qj >�q���� �	.  

 jL<� ��)T (�� �q�� ��"#����.� � q� ��.� ���.� q���  
�1 $���q-"$E1 � ���*�( )×

r r
r v.�! ���.��  jL<� )_(  

��-<� *�q���( )×
r r
r v�q��.q.  ��_ Vθθθθ_r�� ���  _r��-<�   

 � ��3�� Y�.� �� �	:� 3� �).C x�5�_ Vθθθθ ��.� ��-<�  �*E� �� ��� 8.v�� �� �*E� ��#.> ���0�
��� ���l %.$"� �F/ �� . 2�<�</ ��_ Vθθθθ ��?p� ��� z�L� ��.� ���0� 8 .�L��� 8 ��.� ;��   �� �1

��� =-� =��� ��7� ��� ��� . ��.�_V��� ���l %.$"� �F/ �� �*E� ��#.> z�L� ��.�  . ;#� ��
�?�E�� 8�$��� .� �>�.) ��.� 8�$��� �	C 2 2��� �	0� x�5_ Vθθθθ  =_V ��� . �*E� ��.�_Vr  3�

<� �L� .� ��E<� ��� ��-<�� ��3�� jL� �� ��� -#6 . ��.�_U�#��3 ��.� 3� ���� �L) ��.�  8�2 
ωωωω2��� .�L���  ��.� ;#� ;�� 8 �1�L��� z��L�   8)bg_d( �� �� .#3 ��	! �� -#6:  

= +
r r r

rV V U  )_(  

2 22 2 2
2

= = − = −r
o

Q
V V V U r

A
θθθθ ωωωω  )b(  

                                                                                                                            
gW  Cyclic-Steady  

 jL<�)_(  

ωωωω    

 jL<�)T(  

_ Vθθθθ =  +V 

ωωωω_ r =  +U 

_ Vr  

_ Vr  

_ Vθθθθ =  +V 

ωωωω_ r =  _U ωωωω    

Tshaft 

_r 

 �F/

%.$"� 

jL<�  

)_( 
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 �6 �� ��A0��� ��3�� jL<� �L�  .�L��� �C �0� A�� ���*� ��r�  8)bg{u (�!�/ 3�  h.Q
��r� � ��� ��r�( )×

r r
r v�� ;��5� �	� . ��r� � �>�.) �# 8���� �� �>	� �� ��� ��r�

( )×
r r
r v�� ��� �	��+ 3� =���$�� ���� ;��5� �� �	� .�L��� �C �0� ���*� 2�N?  8)}g{� (��  ��	!

�� =��� .#3 �	�:  

( ) ( ) ( )( )
22× ⋅ = − +∫

r r r
&

CS

ˆr v v n dA r V mθθθθρρρρ  )d(  
  

�*��:� 8�.�  8�L��� ���� �0� ���*�  8)bgd~(�,.
 .G��� �� �1�.�� .@"? -#�� 2. jL<� �� )T(2 
 .�! .��.� h6 ��7, .@"? 2��� �	:� 8�$��� �� ���� ���.� �	C��� . jL<� ��)_( .��.� h6 ��7, 2

�� .@#-�# `r) �� .�E0�6 ��7, 8�.�� Y�� =-").C 8�1�3�� `�.
� �� � .�E0�6 ��7, -"��� �N? � 
�6 .@"?��� .�! �B .`.! Y�� �	1 e��L!� 3� �� .G� �	� .h6 �	:� �� H	�.� A��<� 8�.�� �B"�  ^�O

A��<� .@"? �� ��� 2Tshaft2�� ��F#�  � � -"�� �� ���� .#3 ��	! �	�:  

( )× = −∑
rr

shaft

CV

r F T  ){(  

�L��� ��  8){(2  ��r�Tshaft��� =-� ;��5� ���� ��� �	��+ �� �>	� ��  .�L��� S��.� ��  8�1)d ( �
){ (���� ��1�	):  

22= &shaftT r V mθθθθ  )|(  

),(���@"1  ��h6 �).C 3�   2�	� 8.�
	�> ^�O�L���  8)b( ��  .#3 ��	!�� �� -#6:  

( )
2 2

3 3

2
6

1 10
0 16 7

2
2 30 10

−

−

×
= − = =

 × 
 

mo

Q m s
V r . m s

A
θθθθ  )t(  

 �N? ��L���  8)| (�� ;�"C �	�:  

( )( ) ( )( )3 3
0 2 16 7 999 0 001 3 34= =shaftT . m . m s kg m . m s . N .m   

)d(  ;#� ���� A��<� .@"? � ��.� .#��<� �?�/  �� �*��:� .#3 ��	! �	�:   
2

500 500 52 4
60

= = =rpm . rad s
ππππ

ωωωω   

( )( )
2 2 16 7 0 2 52 4 16 7 10 5 6 2

2
= − = − = − =

o

Q
V r . m s . m . rad s . m s . m s . m s

A
θθθθ ωωωω   

( )( )( ) ( )3
0 2 6 2 999 0 001 1 24= =shaftT . m . m s . m s . N .m   

)'( ���@"1 ! �� .��.� .@"? ������ ��1�	) �N? � 2��� .�! z�L� ���0� ��.� 2��� .�:  

2 2 22 2 0= − = − =r rV V U V rθθθθ ωωωω   

2

2

16 7
83 5 797

0 2
= = = =

rV . m s
. rad s rpm

r . m
ωωωω   
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=�@$�� �� �1#;���	� � �0O ��*+ 3� �2 8��-5� =.O  ��.+ =-").C I�:� �# 8�� .� �?�	$� 8
-���� .� 8�.�� ��� �	:� .@"? ����6 )Tshaft(2 �>�.) j
�<� � 8���� j
�<� �� %��� I#�.� �� �>	� 

��� 8��.Q . %�f� �� �C.
�)bgT| (=.O �� ��� 2�	� .@"? 8���� �>�.) ��#.> I<,  ;���	� � �0O 8�1
��� .@"? 8���� Y�� 8���� ��#.>.  

�� ��� �	
2�� .#3 �05?��	$�� �� �>	�  � �� -��	�� �����6 -"� �0� �	:� .@"? ��:  
• .G��� �� �?.$"� �	L� 2%.$"� �F/ h� $�� 3� -5� ���*� �6 �� �� -#.�@��L��� A��   8)bg{u( 

�E�� .�! 8��E�. 

• ��.� ���.� 9�f� 2%.$"� �L� .1 �� z�L� ��.� 8�.� �� �12 V�*E� ��.� 22 Vr ����� ��.� � 2
�).C �	:�2 U\ �.� ���� �� z�L� ��.� ���.� � =�L��� 3 8= +

r r r

rV V U� � -#��6 ���.  

• ��?p� z�L� ��.� ���.� ���0� 82 Vθθθθ-�"� �*��:� %.$"� �L� .1 �� �� 2. 

• 2�	:� .@"? ��-<�&rV mθθθθ2 -�"� �*��:� �� %.$"� �L� .1 ��. 

• ���� �� �	:� .@"? .#��<� 8.*> j0> �� �� ��-<� 2%.$"� �	L� 8� .@"? � �� ��� -#6. 
  

 ��;� ��7�\ Y \T 9X  
  

 ��.� �� h6m/s Tu%3�� 3�   �# 8�1h6 ^�O � z��L�q����   
�� ���	, .�E0�6 -"� .���	!�� %3�� .L+ �� �# .1 �1 cm T  

��!�, � �	:� 8 �� �����  S��.�cm a_ = LA �   cm a = LB -��� ���	, `.
 3� ���� 8�1�.�� ���$7
 2

j#�� 6 ��h �� ^�O  �$E��SI C -"N.m�	� -1�	) � )'	( � A.>  h6b
m/kg Tub= ρρρρ(  

_____________________________________________________________ 

C��D: 

�L��� 3�  8)| ( %�f�)bgT| (�*��:� 8�.�  8.@"?�� =���$��  �	� .%3�� .@"?  A  %3�� 3� ���B `r) �� � 
��� �6 .�*��:� 8�.�  8"?.@ %�f� �� �� �c�6 -"��� )bgT| ( 2-� =��� ��Q	��*��:� <� 8��- ��.� 
z�L���� A3�  .�� �	C  ;#�%�p� ��-<� ωωωω�� �N? 2��� =-7� =���  �� .G�  .��.� h6 z�L� ��.� �� -��
m/s Tu���  .;#� .�[�� !��	%�f� �E�� �/ ���+ ���	�5� ;#� �� .���� ��1�	) �N? :  

( )= =&
A Ashaft A A A AT r V m r V V Aθθθθ ρρρρ   

( ) ( )( ) ( )232
10 1000 10 0 01

100 4

   
=    
   Ashaft

a
T m m s kg m m s . m

ππππ
 

0 05=
AshaftT . a N .mππππ   

 %3�� .@"? ��-<�B %3�� 4(� A ���. �� .@"? 2�N? �� � .#3 ��	!� �� ��� -#6:  
0 05 0 025 0 025= − = − =

A Bt shaft shaftT T T . a . a . a N .mπ π ππ π ππ π ππ π π   
  

a cm _a cm 

Tu m/s Tu m/s 

ωωωω    
A B 

 �#�Eqq�bgtu

 �?�bgtb  

e bg|  
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��^  ���#�'4��! ��	 �e	 ����	
  �f��	 �  
��^ �����	
 g�K�-	   

 �� ����� ;���	+ 3� ��# �5�*
����"#�	�.� %�� �!�W �# �!�<� 8M.�� ��_���  .�!� ;#�2 R��� 
�5?�L�  8�L��� 8��� ;�� �	>	�  �6 %��*� � 8M.�� �	
��	
 8�1B��� � . .@���� ����"#�	�.� %�� �!�

��� �68M.�� ��  �# �� -"#�.,�� -�?	� ��  �� ;�� 3� �� � �	� ���2.��D� ���� �� ��� -1� .8�.�2%�f�  
.G��� �� �@"� �5L+ =. ! 8��� 3� �� -#.�@� ��� H	<� %�/ �� 8� .�"� �5L+ H	<� A�@"1 2

�� .
�)��E��$O 8M.�� �#-*� �	>	� �7*"> 8M.�� ��  �6 ��.� 2��� �#�Y,� %�/ �� . �#�$�
�1�@7#��36 ��7� �� 1�"�"#�.� H�.7� 2��� �7*"> 8M.�� �#�Y,� .��.� ��E��$O 8M.�� �1�� �� - �

-��� Y�C�� �	1 ����<� . �5�*
 �� 2��E��$O 2�7*"> 2������� 2����./ ���� 8M.�� 4�$ � x�	��
��0�� 2�E�
�"D� 2��#.$�?�#�0�� � ���� ���.� ���+  .x	0F�8M.��  �1�$E�� �# �� �	>	� 82 

8M.��=.�)V  =-� 8�� b2 E 2�� ���7� �� �$E�� -1�.  
.$7�� e�� 8�.�.$B� � �L��� 3�  8M.�� 82��O R�� �-���N
  �� 83��� ����"#�	�.� A�� 8.�� 

8��.Q��  �� .G� -�� .�F"#� ��-1�	) �5� -� =��� ����3 �� �� 2 ���� � � ;#� �� �!� ;#� ��1��� 
�	� .�L���  �� �$E�� �# 8�.� 8M.�� 8��	! .#3�� ����  �	�:  

( ) ( )∀ = + + +∑ ∑ ∑ ∑∫ & & & &

14444244443 14444244443
144424443

in out in out
sys sys

CV

d
e d Q Q W W

dt
ρρρρ  

 
  

net net
in in

sysCV

d
e d Q W

dt
ρρρρ

 
 ∀ = +
 
 

∫ & &  )bg{T(  

 �6 �� ��e2A.> -/�� �� =-� =.�)V 8M.�� net inQ&����3 y.� m?�)  ��.
 %�<$��d� 2net inW& y.� 
����3m?�)  ��� %�<$��{��� . �L��� 8 �$E�� 8�.� ]	,  �1�� �# h�$� ��-� 8 h�$�2��� ]��! .  

��Q., 3� =���$�� �� 8 %�<$��3-?	"#� 2�L��� IE� ��  �� %.$"� �F/ 8�.� 8M.�� 8 �#3��.O . 8�.�
 ��� ��# �$E�� �� �G:? .1 �� �� �?.$"� �F/)�L��� ��*l� �� 8 -�"� �5>�.� 3-?	"#� %�<$�� ( 2 .#��<�

��01 ��� � ��.
 %�<$�� ����3 y.� �1# �-"$E1 �� .� %.$"� �F/ �� .l� -"�.  ��	� %.$"� �F/ ��
 2���.� ��-<�.�D$� .��.� j��> E = B � .�D$� Y�.0$� e = /m =E b ��� .�N?2�L���   8)bg{T ( 8�.�

 � ���l %.$"� �F/���.��D� ��-�2 �� .#3 ��	!�� �$�	�  �	�:  

( ) net net
in in

CVCV CS

ˆe d e v n dA Q W
t

ρ ρρ ρρ ρρ ρ
 ∂
 ∀ + ⋅ = +
 ∂  

∫ ∫
r & &  )bg{_(  

                                                                                                                            
gW  First law of thermodynamics g�  Conservation of energy  gb  Total stored energy 

gd  Heat transfer   g{  Work transfer 

 =-� =��Y,� 8M.�� m?�) ����3 y.�

��.
 %�<$�� .l� �� �$E�� �� 

 �#�Y,� ����3 y.�8M.��   

=.�)V =-�  8�$E�� �� �� 

 �� =-� =��Y,� 8M.�� m?�) ����3 y.�

��� %�<$�� .l� �� �$E�� 
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��^ �+���	
 ��F�!  �f��	 �  

 ���.� �� %�/.�D$��L��� 8�1 8) bg{_ ( ��1�	)�)��.O .P�	05�8�.���� -!�<� �� 2 8M.�� ��-<� 
A.> -/�� �� =-� =.�)V2 e 23� x	0F� �)�� 8M.���WA.> -/�� �� 2u

( 2�7*"> 8M.��_A.> -/�� �� 2 
_/_v� 2��E��$O 8M.�� bA.> -/�� �� 2 gZ  2�� ���7� �	� .��  2.@#� ���*�e��  �� .#3 ��	! �� -#6:  

2

2

v
e u gZ= + +

(  )bg{b(  

2��.
 %�<$�� ����3 y.�Q& �F/ ;�� ��.
 `r$)� ��� �� �� ��� 8M.�� %�<$�� 3� ��	� ���� 2
 �6 `�.
� � %.$"��� y� -1� .%�f� �1# ��*+ 3� ��3	�.O#�d 2�#�-1{ � %�<$��|A.,  �1# ��.
 %�<$�� 3� �

-"$E1 .� �B>��.
 %�<$�2 3� ��/�� 8� �� ��� ���./ �>�� �� ��/�� 8��O ���./ �>�� �� #��� ;� . 3� -5�
�� 4+	$� ��.
 %�<$�� 2���./ �>�� %��5� �	� .%.$"� �F/ �� ���./ �>�� �c��"C  � �6 `�.
�

w�1 2-��� ��E�# ��.
 %�<$�� ��	
�#�0� y�  -1� .-"#�.,��.
 %�<$�� w�1 �6 �� �� 8#! � ��	
�0� 2�.#NO �� ����t�� =-����  �	� . �� ���� �	>� =�� ��-"#�.,��  ��	!��  ������ �- .��"#� %�� �F/ 

z#�� %.$"� =-� 8-"�-��� 2� � 8�	
 ��.
 �� �	*� �6 �	L� 3� -"�� .��"#� A�� �F/ ���./ �>�� 
 �6 `�.
� � %.$"�-��� .��.� .-"#�.,��  ��� �� -#�*� �-"#�., �1 ���~�	� =�*$��  . �� ���-"#�.,�1  ���  ���l

 ��� 2��� ��-"#�.,��  ���� �0 �>�� ��� ;�/ ���.-��# .��D� ��� %�<$�� .l� .� %.$"� �F/ �)�� .
 .
� ��� �*f� ��.
 %�<$�� ��.
�	� ���� %.$"� �F/ �)�� ��2�  �6 J��.���"� ��  �	�.  
 ��� %�<$�� ����3 y.�)��	�(2W& �� ��� 8M.�� %�<$�� 3� ��	� ���� 2�� H	�.���� �.�� ���  .
 �# � �	$E�O �# ��./ ��./�� =-").C �	:� %.$"� �	L� -""� jL+ ��%�f� 2 �1#� ��� %�<$�� 3� 

-"$E1 . ��� %�<$�� %.$"� �F/ �� 8�����*f��6 3� �>�.) �  ��"� �� �$,.
 .G��� �	�.A.,  8�1 
�����$��� ���� �	>� ��� %�<$�� ����3 y.� 3� P�	05� �� ���� .#3 ��	! ��  �	�: 
  

shaft pressure viscous otherW W W W W= + + +& & & & &  )bg{d(  
 

�6 �� ��shaftW&2�7).C �	:� ��	�pressureW&�� ��	�28��7, 8�.viscousW& 2��.� 8�.�� ��	�
�otherW&��� �:L� �7� � �E�
�"D� 2��#.$�?� ��*+ 3� �1�.�� .@#� ��	� . 3� h�$� ;#� ��

��-<�otherW& ��  �6 4�5Q .l� �# � �	>� A-� .
�)`.! �� .G� ��"� . 8���	� �� rf� 2���	� �n5� ��
 �# `�.
� �� ��#.> ��1� �3��-<� 2��� �>	� ��	� viscousW& ��� �>	� ���+ 2��<� �� �?�  ���	� 8

`.! �6 3� � ��� Y�C�� �6 ��-<� �� .G� ��.
.   
=�@$�� 3� 8���E� 3� �1���	1 2;���	� 2�0O ��*+ 2-"$E1 �7).C �	:� 8���� 2=.�[ � �	�.K0�  .

;#� �� %.$"� �	L� 3� ��� %�<$�� 2���	� ��	
2).C �	:� �# I�	� �� ��	! �7 �.#NO.  8�.�

                                                                                                                            
gT  Internal energy g_  Kinetic energy gb  Potential energy  gd  Radiation  g{  Conduction 

g|  Convection gt  Adiabatic  g~  Isothermal 
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�*��:�  8�#��3 ��.� �� �� 8�	:� ��	� 8� ωωωω �� -).C ��-<� 2�6 ��  .#3 ��	!��  ����� -#6:  

shaft shaftW T ωωωω=&  )bg{{(  
���	!�� -��� �	:� -"C 8���� %.$"� �F/ ��2�� ��	� �� ��-<�  � .#3 ��	!� �� ��� -#6:  

net shaft shaft
in in out

W W W= −& & &  )bg{|(  

�8�.�� ��	��7, 3� ����  ��0?� �# 8�.� δδδδ A %.$"� �L� 8�� .� �� � .#3 ��	!� �� ��� -#6:  

( ) ( )pressure pressure ˆ ˆW F .v pn A .v p v n Aδ δ δ δδ δ δ δδ δ δ δδ δ δ δ= = − = − ⋅
r r r r&  )bg{t(  

��-<� 2%.$"� �	L� A�0� 8�.���	� ;#�  �� �� .#3 ��	! �� -#6:  

( )pressure

CS

ˆW p v n dA= − ⋅∫
r&  )bg{~(  

 2��� S?�L� �� �>	� ���L���  8)bg{d (�� �� .#3 ��	! �� -#6:  

( )net
in

CS

ˆW W p v n dA= − ⋅∫
r& &  )bg{�(  

 I���� S��.� ��)bg{_( 2)bg{b ( �)bg{� (�L��� �� �!�/ .#3 ��� 8 �	�:  

( )
2 2

2 2

   ∂
+ + ∀ + + + + ⋅ = +   

   ∂    
∫ ∫

r( ( & &
net shaft
in net in

CV CS

v p v
ˆu gZ d u gZ v n dA Q W

t
ρ ρρ ρρ ρρ ρ

ρρρρ
 )bg|u(  

�L���  8)bg|u (�L���  8�.� 8M.�� 8h�$� � h�$� ��-� %.$"� �F/ ��� ���.  
��^ �����	
 '��
�G  �f��	 �  

 2��-#�O ����� ��#.> �# � ��-#�O ��#.> 8�.� ��-<��L��� %�� ���*�  8)bg|u (��� .�! .��.� . ��-<�

 %.$"� �L� 3� ��.> ��� �N
 ��	! �� A�� ���*��>	� ���+���  .�c��"C 3� %��� ���!	() 

��*+u
( 2p/ρρρρ  2_/_v � gz��  	L� �� �)�	"�# ��	! 2-"��� =-� j#3	� %.$"� ���-#�O ��#.> ��2 �L���  8

)bg|u (�� �� =��� .#3 ��	! �	�:  
2 2

2 2
net shaft
in net inout in

p V p V
u gZ m u gZ m Q W

ρ ρρ ρρ ρρ ρ

   
+ + + + + + + = +   

   
   

∑ ∑( ( & && &  )bg|T(  

 �6 �� ��VI�	$� ��.� �# � jL<� �� �)�	"�# ��.� V���  . 8���	� ��  �7).C �	:� ��	� ��

�� �$,.
.G��� ��#.> 2�	�� �� �7).C �	:� `�.
2��� ��-#�O��  .8�.� 2%�f�  �C.
� �� ��7, � ��.�

��� .��D� %�/ �� �0O �# �7).C =.O `�.
� �� �L<� �#�?� 2�O � ������ j
�<� �� #;�  ���

��� ��-#�O ��#.> 2�0O .�� ���� �>	� -#�� �� � ������ j
�<� �� '	()�O #;� �0O ���2 ��#.> 

Pr0���  ��	! Pr��� �0� ��.+.� �)�	"�# -��� �?� 2��#.> ��	� �)�	"�# ;$,.
.G��� ��2h�	>   8�1

%	*+ ���+�� �!�/  �	� .-� -1�	) �*:! 8-5� � � �� ��.� j#3	� �$)�	"�# A-� ��	� ��.  

e bgt  
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 ��;�� ��9:���	
 '��
�[  �._	4#Q� ����� �	�� �f��	 . 
 

 �$E��=-� =��� ��7� =�@$����� �� # �� q �  
�:�! ����� ��.+ �<, .>q ��#. h6���$E�� ;#�   
 ��-q� � ���L!��� ������ � .��	� ��-<���   
 ;#����� �-<C �$E��  

_____________________________________________________________ 

C��D:  

 3��L���  8)bg|T (F/ 8�.�q %.$"� �7�q� �� =-� =��� ��q��  
�$��q�� =�� �	� . �� �>	� ��$E�� ��	� �<,�q 2�u = Z3� � ���   

)�� 8M.��q���� ��� � q�.� 8�.q�`.!  �� .G� 
��. .�>	� ��  
�L��� 2=-� �$�
 S?�L� ��  8)bg|T(�)�	"�# ��.� U., ��   

j
�<� ����  �� =��� .#3 ��	! �	�:  
 

2 2

2 2
shaft

out in

p V p V
W m m

ρ ρρ ρρ ρρ ρ

   
= + − +   

   
   

∑ ∑& & &   

2 2 2
3 3 2 2 1 1

3 2 1
2 2 2

shaft

p V p V p V
W m m m

ρ ρ ρρ ρ ρρ ρ ρρ ρ ρ

     
     = + + + − +

    
    

& & & &  ) T(  
  

<� �� ��.> ��� .#��<� j
�)T ( �)b(�F�6 3� �   jL<� �� ��.> ���)_ (�L��� 3� =���$�� �� �@$�	�O 8 
�� � .#3 ��	!� �� ��� -#6:  

( )( )( )3 4 2
1 1 1 999 4 5 190 10 85 5m V A kg m . m s m . kg sρρρρ& −= = × =   

( )( )( )3 4 2
3 3 3 999 13 7 30 10 41 1m V A kg m . m s m . kg sρρρρ& −= = × =  

 1 2 3

2 285 5 41 1 44 4

= +

= + =;    

& & &

& &

m m m

. kg s m . kg s m . kg s
 

�N?2�L���   8)T (�� �� .#3 ��	! �� -#6:  
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2
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3

13 7101300 345000
41 1 44 4

21000 1000

10 7 4 5550000
85 5 22

2 21000

shaft

. m sPa Pa
W . kg s . kg s

kg m kg m

. m s . m sPa
. kW

kg m

  
 = + + 
   

  
 + − + = −
 

  

&

 

  

�� ��7� ��	� ��"� ��-<� � 3� �� -1%.$"� �F/�� �$,.
 8M.��  �	�.  
  

%.$"� �F/

  

)T(  

kPa {{u =  Tp 

m/s {/d = TV  
_cm T�u = TA  

kPa bd{ = _p 

m/s t/Tu = _V  
)_(  

kPa b/TuT =  bp 

m/s t/Tb = bV  
_cm bu = bA  

)b(  



  ����� ������ 152 

 3� 8���E� ���E�#� .� =�r� 8�.���� ��-#�O   2%��� ���!	() ��	� �)�	"�# � ��#.> ��	�
 �>�.) ��#.> �# � 8���� ��#.> �# I<,��� �	>	� .h6 %�<$�� 2%�f� ��	"� �� �Y � �# 3� 

I�	��?	? �#  �� -#.�@� .G���  .���� %.$"� �F/ .
� �L� ��	"� �� �Y � �L� 2-��� �?	? � �Y � 
 � 8���� %.$"� jL<��� �$,.
.G��� �>�.) %.$"� �L� ��	"� �� �?	? �>�.) �	� ..� ;�"C 8�

�L��� ���#.> �� �@$�	�O 8 ��	!in outm m=& &�L��� � ���   8)bg|T (��  ��	!=��� .#3��  �	�:    

( )
2 2

2

out in
out in out in net shaft

in net inout in

V Vp p
m u u g Z Z Q W

ρ ρρ ρρ ρρ ρ

 −   
− + − + + − = +    

     

( ( & &&  )bg|_(  
  

  
  

2 2

2 2

shaft net
net in inin out

in out out in

in out

W Q
V Vp p

gZ gZ u u
m mρ ρρ ρρ ρρ ρ

 
    

+ + + = + + + − −    
      

 

&&

( (

& &
 )bg|b(  

�L���  8)bg|b (��.� ����� 8�.�� ���.� � .#NO ��� ]��! .#NO�� .���.� %��� 8�.� .#NO���L��� 2 8   
)bg|b (�� =��� ��7� �#V ��	! �� �	�:  

2 2

2 2
+ + + = + + +

&

&

shaft
net inin in out out

in out

W
p V p V

gZ gZ loss
mρ ρρ ρρ ρρ ρ

 )bg|d(  

�L��� �1  8)bg|b( �) bg|d(�L���  �1 8 A.> -/�� �� 8M.��W ��� .A., �1#�L��� 3� .@#� �  Y�� 8M.�� 8
�� =���$�� �	� .�L��� h.Q �� 8 ) bg|d ( 2%��� �?�@C ��ρρρρ �L��� 2  8�F/ -/�� �� 8M.��_ ��  ��	!

 .#3�� �� ��� -#6:  

( )
2 2

2 2
+ + + = + + +

&
shaft
net inin out

in in out out

W
V V

p Z p Z loss
Q

ρ ρρ ρρ ρρ ρ
γ γ ργ γ ργ γ ργ γ ρ  )bg|{(  

�L��� ��E<� �� ) bg|{ (.� γγγγ�L��� 2  8-/�� �� 8M.�� �3�b ��  .#3 ��	!�� �� ��� -#6:  
2 2

2 2
+ + + = + + +in in out out

in shaft out L

p V p V
Z h Z h

g gγ γγ γγ γγ γ
 )bg||(  

�6 �� ��= &
shaft shafth W Qγγγγ � hL = loss/g���  .���*� ��5�� �	C �L��� 8�1  8)bg|| ( SE/.�

�� �L��� ;#� 2��� %	
 �L��� A��  88M.�� -1d��� `�.5� Y��  .�c��"C�.+ %.$"� �F/ �� ;���	� �#  �
�.�@� 2hshaft = –hT.  ��	! �� ��	>��0O ��  ;���	� 8�>2 hshaft = +hp.���  ..�D$� hT � ;���	� -1 
.�D$� hp��� �0O -1  ..�D$� hL -1 �����8M.�� {�� =-����  �	�.  �� ��� .�V �� A3�hL=�r�  .��c�6 

�L��� �� ��  8)bg|| (2-� ������  8-1 ���� -��	�-���  ��  .l� ���� ;�� 3� e��L!� ���. P�	05� 3� 
                                                                                                                            
gW  Energy per unit mass g�  Energy per unit volume  gb  Energy per unit weight gd  Energy head 

g{  Energy head loss 

-��� 8M.�� =-��0�+�� 8M.�� 8M.�� ����� 
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�L��� 28M.�� -1 8��  ��	!�L���   8)bg||(  3� 8���E� ��8�.���� -!�<���  j��� ��	! =���$�� 
�� A., � �	� �L��� .@#� 8�1 ��� �>	� ��	� .$0� 8M.�� 8.  2;�"c018-5� � � ���(, ;#�  �� 

�L��� �0��.� �.���� 8M.�� -1 8-� -1�	) =����  .  
 ���6.� 8�.�hT � hp 3� �( 7� �":"�W  �# ;���	��� =���$�� �0O �	� .�( 7� �":"� ��  2

�L��� ��� �	>	� �0O -1 � ��� ��-<� ;�� 8� . �(, �� .$7�� ��Q	� 8�.�Tu-�"� �5>�.� h�$� ;#�  .
 .#��<� 2S�L� �
��� 8�.�hT � hp�L��� �# � ���l 8�-� ��	! ��  �6 8 �� =��� �	�.   

�*��:�  8 2-1 ����� ��-<�hL 3� � ��� ��	�� J� 8��� 2  � .G�s8�	��#.> 8�.� I<,   8�1
 8��-:���� �*��:� ���+ . �(, ��)t (=	:� �� �*��:� 8 �?	? �� �6 8 -� -�1�	) �"�6 �1. �(, ;#� �� 
�� �5� �L��� ��	! �� ����� ��-<� �� �	� 8�2� �	� �#��� �#�E� ��	! ��  �-<� �#�	� =��� �6 �. 

  

 ��;����P:  '��
�[���	
 ��f��	 &
 . 
 

�?	? �# �)�� �� h6 8�	0� 8��� ��#.> ��  8�n, 3� ��?	? 8�B$��  ) jL<�B gB (�?	? ;�� ��  �# �
�:�! 8��-�  �� ��� �	(:� ��	!2���5�  i��) h6 �>  
�� �q�	 ..
� <�q ��-�q�� -1 ����q8M.�� q
�<� ;q jA �  B .��.�   

g_/ B
_

V _/u � 7,q��� Lqz� L<� ��q jA� q .��.kPa TTu� q��q 2-  
 ��#.> ��� ��-<���� �� �?	? � ��� -#��6.  

_____________________________________________________________ 

C��D:  

��� �>�.) jL<� �# � 8���� jL<� �# ���� ��� $�� %.$"� �F/ .�L���  8)bg|| ( �F/ 8�.�
%.$"���� �� =-� =��� ��7� 2 �)�	"�# j#3	� U., �� �� ���� .#3 ��	! -#6: 

2 2

2 2
+ + = + + +A A B B

A B L
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Z Z h
g gγ γγ γγ γγ γ

 

 �L� ;$,.
 .G��� ��)A A–( ��  �� .��.� ���-��$�� .�E0�6 ��7, � �"*� �L� ��	"�Pa TuTbuu�#��� :  
2 2 2
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. .
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2

−
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.
g

 )T(  

�L��� �	�O 8 %.$"� �F/ ��01 8�.� Y�� �@$�� �� .#3 ��	! �� -#6:  
= =A BQ V A V B  

( ) ( )( )2
0 2 2 0 15 0 012 0 36

4

 
 = =   

 
;    A B A BV . m V . m . m V . V

ππππ
ππππ  )�(  
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e bg~  
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mm _uu  

mm T_  

A  
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�L��� S��.� ��  8�1)T ( �)_(2  jL<� �� ��.�B� �F�6 3�  ��#.> ��� �� ��	!� .#3 � �� ��� -#6:  

( )221 2 0 36
0 767 3 75

2

−
= =;    

B B
B

. V . V
. V . m s

g
  

( )( ) 33 75 2 0 15 0 012 0 042 = = = B BQ V A . . m . m . m sππππ  
  

 ��;� ��+8\ Y \T 9^  
  

�?	? �� h6 ��� .��.� 8� L/s _u ���. �� .�E� ;#� �?	? 8.�� ��.+ ���� ��  �� .��.� 8��7, �,� 9���kPa _ 
�� �	�. ��-<� ��	� 4�� =-� �� ;#� .�� .� SE/ ��� .��.� ��� �� )'	( � �3� h6b

m/N Tuuuu= γγγγ(:  
_________________________________________________________________________________ 

C��D: 

-��� .�� ���� �� �?.$"� �F/ h� $�� ���>	��� � ��E�# .�� 3� -5� � �*+ ��#.> ��.� ��"#� ��  
)�L��� �@$�	�O 8(��� 2��� �<,� .�� �  �L���  8)bg|| (�� �� .#3 ��	! �� -#6:  

2 2

2 2

− ∆
+ + = + + + = =;    in in out out in out

in out L L

p V p V p p p
Z Z h h

g gγ γ γ γγ γ γ γγ γ γ γγ γ γ γ
  

 8M.�� -1 ����� ��	� ��-<��� � .#3 ��	!� �� ��� -#6:  

( )( )3
0 02 2000 40

∆
= = = ∆ = =&

loss L
p

W Qh Q Q p . m s Pa Wγ γγ γγ γγ γ
γγγγ

  
  

 ��;� ��+�\ Y \V 9�  
  

�)�� �� h�57�� �# �� ��#.> ��( 7� 8�� � 3����   
��� .#3 ��� �� �<,� 4�#��� =-� � .=-� 4�� ��	�  

57�� ;#� �� qq"C h�qq�� ��� -qq�) bm/N Tud =  γγγγ(�  
  

_____________________________________________________________ 

C��D:  

�� ;#� �� h6 ���� %.$"� �F/ �1�����  . �� �<�+� =�@� .
��L��� 8) bg|T (���*� 2�#3�-"�� 8�1 
 �>�.) 8M.�� 2%.$"� �F/ �� 8���� 8M.�� .��.� �C �0��4�� 8M.��  ��� =-�. �0� ����*� 

���� Y�� ���� =-""�  8�,�Q� 8M.��  =-�4�� �# � ��� =-�.  �L��� ;#� 2�N? ��	! ��.#3 �� �� -#6:  
 
 + =
 
 
∑ ∑ && & loss

out in

g Em Em W  )T(  

�� ��.G� =��� ;$,.
  8�1�?�E�2�L���   8)T (�� �� �� .#3 ��	! #6-:  

( )1 1 2 2 3 3lossW g E m E m E m& & & &= − −  

s/bm Tu = TQ  

m t/T = TE 

s/bm {/| = _Q  

m |{/T = _E 

s/bm {/b = bQ  

m |/T = bE 
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( )

( ) ( )( )
( )( )( )
( ) ( )( )
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2 3 3 3

3 3 3
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10 1 65 10 6 5 6750

1 6 10 3 5

loss
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W m s . m kg m . m s W
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&

 
 
 

= − = 
 
 −  

  

  

 ��;�� �++:���	
 '��
�[  ��f��	 &
 . 
 

# ��q$E#� �q=�@0O qKqh6 2M�  3��Y �  
=-��� �0O I�	� I�	� � =-� �?	? 8   

���q� �qL+ �q .mm Tuu �q
 �q%	 �6  
 ���E� 2��� ����3�� 3� � 8 �� .L+ mm {u  �� .�E0�6�1� �� �	�. �� ��7, .
� ���?	?  8 ���� ] jL<�

)A-A([ �� kPa b|�) 2-�.� �3#� �?	? �� �0O ������ �� 8���  ] jL<�)B-B([�� ]����  -$,� . ��-<�
�?	? %	
 8 ��� )L( ���� �>	� �� ��"#� �?	? �� 8M.�� ����� -1 ��-<�  .��.� ��� 8��                              

g) _/_V( )TD/L ub/u(2��� � � -#��6 ��� . �F"#� ��VB = V�?	? �� �)�	"�# ��.�  ��� ��� 8.  

_____________________________________________________________ 

C��D:  

�?	? %	
  8������� =��	� �  �� `.! �6 -1 �,� 3� ��	� �.� .G� . 2��� ��-#�O ��#.> �	C� �L� 
�"*�2�1  �Y � �� h6 �L� 3�.��� h� $��  2�	� �L���  8)bg|| (%.$"� �F/ 8�.� ���l  h6 ���� ��

jL<� ;�� )A-A ( �>�.) jL<� �)T ( ����� ��	! .#3 ���� -#6: 

2 2 2 2
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2 2 2 2
1 72AV V m s− =  )T(  

�L���  %.$"� �F/ ��01 8�.� �@$�	�O 8�� ��� .#3 ��	!:  
2

1 1 1
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4
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 
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 
;A A A A

. m
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. m
 )�(  

�L��� S��.� ��  8�1)W ( �)� (���� ��1�	):  

( )2 24 72 2 19− = =;    A A AV V V . m s  

�L��� .$"� �F/ 8�.� �@$�	�O 8 j
�<� ;�� %)A-A ( �)B-B (�� �� .#3 ��	! �� -#6:  
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 
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 
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. m
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 jL<� �� �� -���� �$��� �>	�)B-B(�) x	+� ��� �� �3#��� h6 �� � ��7, .��.� h6 ��7, 2� . z*
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 �F/ 8�.� 8M.�� -1 jL<� ;�� %.$"�)B-B ( jL<� 2�Y � �L� �)_(�� 2 �� .#3 ��	!  ����� =�.� �	�:  
2 2

2 2
2

2 2
+ + = + + +B B

B L
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Z Z h
g gγ γγ γγ γγ γ
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Pa . m s . m sL
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740L m=  

 jL<� �� ��7, �6 �� ��)B-B(��  ��� =-� ���� �*E� ��7, ��	! . -#������ .G��� =-#-O ��  8
�)�3#�� � w�1 �L� �>�� �� �����E) ��� ;�0� � �E�� h	�-"� ���� �?	? � �0O ��E�� . %	
 .
�
�?	? 2�	� h� $�� .$0� ��� 8 jL<� �� ��7, )B-B (�� h6 �� � ��7, 3� ��� � �	�=-#-O   8�)�3#� 

�0� y� -1�.  
  

 ��;� ���+\ Y \Y 9^  
  

3� .#3 ��#Y�, ���!	() �� %���i��) %3�� �#  �� �	�.#� qq�� ;qqq%�  
 JO) 3�q� .� 3� i�.q��� �� %3�qx�� h� q�� �� ���.#� q��� ;q<C x��qqq�-   

 ��q��7,qq���� �� ?	?qq���  jL<� �� )T (kPa Tu�� qqq�$,.
 =3�-qq3� � �   
 �>Y? ��.�l��`.! �� .G� ��"� )_m/s Tug = 2  bm/kg Tuuuu =  ρρρρ(:  
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C��D: 

 ;#� ���?�E�`.! e��L!� �,� 3�  j
�<� �� ��.� � =-� .G� ��#.> , �)�	"�#��� =-� U. . ��
%.$"� �F/ h� $�� �� ;�� jL<� )_ (�  jL<�)b ( -���] %.$"� �F/)I[(�L��� 2 88M.�� -1 ) bg|| ( ��

�� �>	� � h� $��"*� �L� jL<� �� )_ (�� ��	!  .#3���� -#6:  
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�L��� S��.� �� 8�1) _ (�) b (�L��� 3� =���$�� �� �F�6 3� �  8)T (���� ��1�	):  
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 ��;� ��+O\ Y \a 9X  
  

 �Y � 3� �� h6 �K0OA �>�.) �� C�� �<$"�  -#�0�. .
�  
!�q�E� e��Lq� .q��.q .gC_/ C

_
V_ = hf + 2q��- Oqqq�0  

gC_/ C
_

V{ = nwP�>�.) ��.� �  m/s d = VC 2-���  x�����h�0� �*��:� �� #-�.  
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C��D: 

 ��-<�nwP2�� =��� ��#.> �� �� ��� ��.> ��� -/�� �� �0O -��� ��	�  �	� .h� $�� ��  h6 �L�
�Y ���  ��	"��"*� �L� 2 �L���  8)bg|d (jL<� ;�� h6 ���� �� %.$"� �F/ 8�.��Y � h6 �L� ) A (

 �?	? �>�.) jL<� �)C (�� ���  .#3 ��	!���� -#6:  
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��^ �O�f��	 b�>�! c��U   

�L��� �� 8M.�� 8] �L���  8)bg|T([ 2 �)�	"�# j#3	� 8�.���!	()���#.> %.$"� �	L� ��   3� �
�6  ��0> 8�.� ��.���� =-� �$,.
.G��� .� � 3.� �� %��� 2���	� 3� 8���E� �� 2������ R�0� ��  .

 �� %��� ��.� 2�N? �� R�0��"� � � 3.���<� �� � ��� .�! .��.� �-#YD�� �!� .� H�<� 82 .�! ��.� 
�E��.  ��.� 2%�f� 8�.�%��� 8��6 �	:� 8�� � .�! �?	? ��)�� ��-> �-<� .f��-/ � ���� �� �
�� -���. � �� ��.� �)�	"�# j#3	� U., 2;#�.��"�r) ���	� 3� 8���E��� ��5+�� `.�� 8-"07���   A��

 �.KE>J�?	#�	�W �7*"> 8M.�� �� ��� ��7� �� %���  �� � ��.� �)�	"�# j#3	� U., �� j#3	� U.,
-�	� �*��:� ��.� �5+��2�0� ��E�#  -"���.  
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�� �*#.Q 3� .l� ;#� ��.*> 8�.�  A�� ��:(� S#.Q�7*"> 8M.��W 2αααα �7*"> 8M.�� ��E<� 3� �� 2
�� �5+���� �7*"> 8M.��  �3�8� ��#.> I�	$� ��.� � �� ��� �� =���$�� 2-#6 �	�. ��0> 8 8M.�� 

�L��� �� �7*">  8)bg|u (�� ��:(� .#3 ��	! �� �	�:  
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 S#.Q ��-<�αααα�� � ���� �@$E� jL<� �� ��#.> ��.� j#3	� ��  8�.� -��	�.1 L�  ����$� %.$"� �
�-�� . 2�)�	"�# ��#.> 8�.� �� ��� �Q��T = αααα���  .�L��� �� �>	� ��  8)bg|t ( S#.Qαααα .1 8�.� 
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�L��� �� ;#�.��"� 8�1) bg|d(�?� ) bg|| ( S#.Q %�0��αααα�7*"> 8M.�� ���*� �� 2��� ���Y?� 8.��  .
8�.��L��� 2%�f�  8M.�� -1 8) bg||(�� 2 �� ��:(� .#3 ��	! ��.
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gW  Kenitic energy correction factor 

&#"2�	'  � ���3�  

'�hF������4%�'�i��4�
4[) �7P+��9O�(  

 .B� �� -"07��� ;#�J#��O �	7� �� �E��.,� � -�6 ���� .�Q�#� �# �� ���  �R-"B�  

�q������	�  .��� J�?	#�	� .l� �,.5� .
�q) �� 8� �.qB� %��q*� �� H	�.� ��  

�# �� %��� ^�.
 8M.�� ��� =�@$��  . .l� �� -"$,�#�� ��-"07��� �� �	� �$E�� �.+ �#��� ��

��� �.L� Y�� ;��3 ^�.
 �� H�*��� �� J�?	#�	�.  %�� �� 8�T~T| ��O =�@7��� �� �"�� J#��O �

�� %	D7� � � -� ���E�1��� 3� 8������ A�F�� =�@7��� ;#� �� �� �1�@7#��36 8 . %�� ��T~_� ���$� 

�"��3 �� 8�� ������  ��� =-� 4�!	� �5"! �� ������ �.���� �6 �� �� -���� ��C . ;#� ��

���*� ��:(� �� 8� �� �	� =����)��.O �7*"> 8M.�� . 
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�*��:� 8�.�  S#.Q ��-<� 8��.� j#3	� 2�7*"> 8M.�� ��:(� -��� A	�5� -#�� ��#.> jL<� �� .
�� A3�  ��� .�V#3	� .
� ���*��:� �� 83��� .@#� 2-��� A	�5� ��.� j  S#.Q 8αααα ���*� �	C 2�E�� 

�L��� �?�.@$��  8)bg|~(��� �*��:� ���+  . S#.Q ;#� .#��<� 2�<�</�� 3� 8��-5� 8�.��E�# '�) �
�6 �� ��jL<� �� ��.� j#3	� �B%.$"� �L� �# ��#.> ��� A	�5� 2 m 7� �� -��� . -���� �$��� ��# ��

S#.Q ��αααα  ��.� j#3	� x	� .1 8�.� )��  Y> j#3	��)�	"�# (X�Y� ��� �# 3� .� .���	!��  ��
 2-��� �)�	"�# ��.� j#3	�T = ββββ = αααα��� .  

  

 ��;� ��X+\ Y \T ^9  
  

��7� ��� �� �� 3�� %���� �# �� �L) ��.� �Q., j#3	� �� �>	� ��  
Q ��-<� 2��� =-� =���q �7*"> 8M.�� ��:(� S#.)αααα (�q��.q�� .q�� �:  
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C��D: 

 .
�v x����� �� ��#.> ��.� y4� 3�  2dh6 z0�  � Vmax ��.� .f��-/ ��-<� )��36 �L� �� (2-��� 
2I�	$� ��.� .#��<��L���  ��.� j#3	� 8 � JK� αααα �L��� 3�  8)bgtu( ��  .#3 ��	!�� �� ��� -#6:  
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��7�0���
&�
 c�- E_ � �f��	 c�- E_   
��01 8�	
  � � �� ��)bg| (�$�
� �L��� 2-  8)bg|| (�L��� �3� -/�� �� 8M.�� 8) �L���  -1 8

��.8M(���.� 2��-#�O ��#.> 8�.�  ��� �)�	"�# ��#	() �� � .#NO�� .���*� -5� �	C �L��� ;#� 8�1 -5� 
A.� 3� A�-� .1 2��� %	
  8�1�L����� ��  �� ��	� ��	!�0��.� � ��� ��7� x����� -5� ��  . ��� ;#�

�1��� I�	� ��*+ 3� �08M.�� S�� I)W) EGL ( ����?��-�1 S�� I)_) HGL (�� ��	! �.#NO.  
�L��� ��  8)bg||( 2 ���*�Z��E��$O 8M.�� `.5� 2�"*� 3� x����� 3� ���� =-� �$,.
 .G���  �  -1

x�����b�� =-����  �	�.2��7, ���*�  p/γγγγ  2��7, -1d �� =-���� � %��� 3� ��	$� x����� `.5� � �	� �� ��
��� A3� ��7, ;#� ��F#� 8�.� . ��.� ���*�g_/_V�.� A3� x����� `.5� 28  �� ��� %��� ��36 H	<�

�� .�! 3� �$�.� -��	$�V-�.�  . ���*� ;#���.� -1{�� =-����  �	�.�7).C �	:� -1  2hshaft  2
=�@$�� -1 �� H	�.� �1#��� ;���	� � �0O ��*+ 3� �. ��01 8�	
  ��Pr*+ ���� 2-�  �0O -1hp  2 9���
 ;���	� -1 � �#�Y,�hT  2 9��� �$E�� -1 �1���� �	�. 28M.�� ����� -1 hL  ��� 8-1 ��-<� ;�*� 2

�� ;�� 3� e��L!� ��*+ 3� ����	� .l� �� �� ���.  
                                                                                                                            
gW  Energy grade line  g�  Hydraulic grade line gb  Elevation head gd  Pressure head       g{  Velocity head 
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8M.�� S�� I)) EGL(��7�  =-"1�  8 ��.��D� 8M.�� %��5� x����� �# � �� 8M.�� -1���� �� 8 
j
�<�� �� . ��� ��)bgt(2�?	?  S�� 8� ��� �($� ��Y � �� .�D$� jL<� �� ��� ..
��"*� �L� 2 4� 
�Y � �	� ���$)� �� 2 jL<� �L�)T (��� �Y � �L� ��2 �� x����� -1 TZ��� =-� =��� ��7�  . -1

.�D$� 8��-<� x�����2��� �"*� �L� h� $�� �� �$E�  .$� ��.� �	C jL<� �� ��#.> I�	)T (��� ���E 
 ��.� -1 ��-<� 2���g_/T_V��� Y�C��  .�Y � �L� ��7, ��"#� ��� �� ��7, -1��7, .��.�  .�E0�6 
��� .�! .��.� 2��� . jL<� �L� �� �� 8M.�� -1 2�N?)T (�Y � �L� � ��� x����� -1 .��.�2  H�<�

8M.�� S�� I) ��� . jL<� ��)_ ( �� ���?	?x����� -1 .#��<� 2���� ��.+  ��7� ��.� -1 � ��7, -1 2
=������ =-�  .��7, -1 ��-<��!� ��  �L<� �� .$�	��� �# ��.�  3� 8� jL<� )�)�	"�# U., ��  ��	�

jL<� �� ��7, ��-<� (�� �� ��� -#6 .����� 3� ��.� -1 8�.� �� 8�  A���?	? �	$�O 8W�� =���$��   �� �	�
 �(, ��{ �6 �� �� �$)��.O �	� .��-<� .
� -1 �F�$� �� � I�	$� ��.� ��-<� 2-��� A	�5� Y�� ��� 

��� �*��:� ���+ ��.� . jL<� ;��)T ( jL<� �)_ ( 8M.�� 8��-<� Y�� 4���� �	� ��� �� �� )bgt ( ��
hL ��� =-� =��� ��7�.  

�L<� 2-��� m 7� jL<� .1 �� ��7, -1 � x����� -1 .#��<� .
�  3� 8���?��-�1 S�� I)� 
)HGL( ��� jL<� �6 � �� ��� -#6. �1.� ���?��-�1 S�� I) � 8M.�� S�� I) 2�Y � �L� �� 

��� z*L"� . jL<� ��)_(=3�-�� �� ���?��-�1 S�� I) x����� 2 ��.� -1 8 .$0� 8M.�� S�� I) 3� 
��� .��� �":"� �# ��	! �� �?	? jL<� �L� ��	� .�D$� ��� �� %�f� ;#� �� ���?��-�1 S�� I). 

	! ����� ��!�, 2-��� ���l �?	? .L+ �� ��?��-�1 S�� I) � 8M.�� S�� I) 8���� ���l .  
��/�� �� �c��"C ��#.> .�E� 3� 8�2�O �?	? �	:� #;�  ���?��-�1 S�� I) 3� .��.+� �.�@� ] ���

)bg~([2�� ��7, ��/�� ;#�  8�?	? 2��� �*f�  .;#� .�[��  2��	! ��"� ��7,��� . 2%�f� ;#� ��C .L+ �	
��.� -1 �F�$� �� � �?	?2��!�, 2��� ���l  8M.�� S�� I) � ���?��-�1 S�� I) 82 ���l���  . ��

�"��3 �� ��� ��"� ��7, 8���� �� �?	? 3� �?	
 2��� ;#� ��� =-� =��� ��7� 8.$E��) 8 . S�[� �	C
�?	?  8�1 ����.�6 �� .#3 �L� ;��3 ��.+ �� -�.�
2 ��7, e�) 8�� �?	? � ��7, ��"� �� ��!�/ �?	?   

  
    

  
  
  

 
  
  

                                                                                                                            
gT  Pitot tube 
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��  2-� ���� �F"#� �� �c�6 .
�)�� �� 8��*��#3 ��.l� -��	� -��� �$��� =�.01 . ��7, �� ��"� ��7, .
� 2�"0Q

�� �?	? ���.) 9��� �-�3��� �� � =-� 3�[6 �#�3�) 2-�.� h6 �� � ��.
 . � 8M.�� S�� I) ���.�
���?��-�1 S�� I)��  -��� �?	? I) �# �/�.
 ���#3�� �� ��	) 8�0"1�� -��	� . �c�6 �� �>	� ��

�	7� ��F#� �6 �� ��"� ��7, �� �	� =-����	) ���?��-�1 S�� I) .#3 2�?	? �� ��� A3� 2-� �$�
.  
  

 ��;�� �+^:�Q���
&�
 c�- � �f��	 c�- j4�_ ��
 .  
 
 

 .��.� ;���	� I�	� �,.(� -1 2.#3 ��� ��m |~ jL<� �� �?	? I) �� ��7, � )T ( .��.�kPa d{u���  .
 jL<� ;�� 8M.�� ����� ��-<�)T (.��.� ;���	� �V g2

13 2.��.� �Y � � ;���	� ;�� � V g2
23 2  �� ���

V1 �V2��   S��.�I�	$� ��.�> �?	? �� ��#. �1 .L+ ��  mm buu�  mm |uu���  . 3�.� 2�Y � 3�.�
 jL<� 3�.� � ;���	� �� �?	? %�(��)T (��� ����7� ��� =-� =���  .��� ��-<���#.>  � =�.� �*��:� �� 
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